R

YTJ; ;r

*f18 Booklet containg 56 printed pages.

SKF16-1

gl gfera wem

Test Booklet No.

N3 -uA—I / PAPER—I

J&a Tlien YRt / MAIN TEST BOOKLET

¥ wlten gftrem @t v aw 7 @ W@ @ w7 W
Do not open this Test Booklet until you are asked to do so,

R wlten gftrm & fod s w R g Friv @ o
Read carefully the Instructions on the Back Cover of this Test Booklet.

iz g waa
Test Booklet Code

e T [ Fauie W REwm )
¥ T R

& /et aferatse 4= w1 wE w1

ama |
TETAE AN DT | SFE R

s-l ;A TEm o faan-we (3@ de 1-30)
-1 : T : (¥ Ho 31-60)
WRI-IIT : TETa S (¥ "o 61-90)
YTV -1 (SE/fe) (9% Ho  91-120)
WV WL (SRR (9 He 121-150)

Serageekeicigenadl
I T W1 (WM-1v) § g ama & frm gn

9. Wt IT Fael OMR ST-U T B 3ifFa Ft| 379 3N
A F1| TR a5 Tg 49 T =1 y@m fafeg )

1. OMR IW-9 38 i g % o7 R | 9 o) gl gfeem
T ) 1 S, A I -v et 98- 1 T yB-2 W &

2. wlen ) srafy 2y, wod § vd whan 1 150 WA § | 1 T

3. T Y8 W fanw 3ifa 9 vd I-va w e o i R e

4. W Jfea 1w IR 7e ghifia = A 6 o gfem wr v,
I F gE-2 WO Hha A e ¥ 7% of ghifm w S e
T gferm e it Im-u WA frew ) o ae fm ), @
el gt when gee o sm-m @3 & fa o = g

5. T whan gfeam & ota sm—i, 1, 11, v el v §, fmd 1s0

6. MMV § w1 % fau 30 w7 St wm-v § wmm-11 % fw 30
T e T €1 T@ when gREE § daw o @ R v @
TR T T | afE w1 2R /A sma-n | smos g
it ¢ wran(d) ottt @ R & sreman /8, W gum
W ATt aitfiTe e gl gt o | R wmoett S wwi s
IW AW IR E D S wA /W 9 F g wrwedt |

7. el arar-n (ar-v) & fore 36 v R wEt S em g

8. 1% e witam Iferm # 70 v & R v wreft e w A

-

Instructions for Candidates :
1. The OMR Answer Sheet is inside this Test Booklet. When

you are directed to oimn the Test Booklet, take out the
Answer Sheet and fill in the particulars on 8ide-1 and
Side-2 carefully with Black/Blue Ballpoint Pen only.

- The test is of 2% hour duration and consists of 150
questions. There is no negative marking.

- Use Black/Blue Ballpoint Pen only for writing particulars
on this page/marking responses in the Answer Sheet,

4. The CODE for this Booklet is I. Make sure that the

CODE printed on Side-2 of the Answer Sheet is the same
as that on this Booklet. Also ensure that your Test
Booklet No. and Answer Sheet No. are the same. In case
of discrepancy, the candidate should immediately report
the matter to the Invigilator for replacement of both the
Test Booklet and the Answer Sheet. #

5. This Test Booklet has Five Parts—I, II, III, IV and V,

consisting of 150 Objective Type Questions and each
carrying 1 mark :
Part-1 :Child Development and Pedagogy (Q. Nos. 1-30)
Part-I[ : Mathematics (Q. Nos. 31-60)
Part-II1: Environmental Studies (Q. Nos. 61-90)
Part-IV: Language-1 (English/Hindi) (Q. Nos. 91-120)
Part-V :Language-1l (English/Hindi) (Q. Nos. 121-150)

6. Part-1V contains 30 questions for Language-I and Part-V

contains 30 questions for Language-ll. In this Test
Booklet, only questions pertaining to English and Hindi
Language have been given. In case the language(s) you
have opted for as Language-I and/or Language-II is a
language other than English or Hindi, please ask for
a Supplement Test Booklet that contains questions
on that Language. The languages being answered
must tally with the languages opted for in your
Application Form/Admit Card.

. Candidates are required to attempt questions in
Language-II (Part-V) in a language other than the one

chosen as Language-l1 (Part-IV) from the list of
languages.

8. Rough work should be done only in the space provided in

the Test Booklet for the same.

9. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
is allowed for changing answers.

witereff o1 A (=2 2l )

Name of the Candidate (in Capitals)
HGFAF (31 H) :

Roll Number (in figures)

(in words)

A9 (32 HERi H)

Centre of Examination (in Capitals)

aitemeff o gEem

Tritere & geen

Candidate’s Signature
Facsimile Signature Stamp of Centre Superintendent

Scanned by CamScanner

Invigilator’s Signature



http://upscfever.com

7
i

Vv

/
i

I}; '// M ¥ ” ‘/ ”

\\

R

Vers

PART—I / wrm—I
CHILD DEVELOPMENT AND PEDAGOGY / arer faesra 3i foreat-1me

Directions : Answer the following questions

by selecting the correct/most appropriate
options.

1. Most classrooms in India are
multilingual and this needs to be
seen as __ by the teacher.

(1) a problem

(2) a resource
(3) an obstacle
(4) a bother

2. Mistakes and errors made by

students

(1) are indicative of the failure of
the teacher and the students

(2) should be seen as opportunities
to understand their thinking

(3) should be severely dealt with

(4) are a wonderful opportunity to
label children as ‘weak’ or
‘outstanding’

3. __ views children as active
builders of knowledge and little
scientists who construct their own
theories of the world.

(1) Pavlov
(2) Jung
(3) Piaget
(4) Skinner

4, Child-centred pedagogy means

(1) asking the children to follow
and imitate the teacher

(2) giving primacy to children's
voices and their active participa-
tion

(3) letting the children be totally
free

(4) giving moral education to the
children

P-1/1
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A teacher can help the children to
process a complex situation by

\\

(1) mnot offering any help at all so
that children learn to help on
their own

(2) giving a lecture on it

(3) breaking the task into smaller
parts and writing down instruc-

tions

(4) encouraging competition and
offering a high reward to the
child who completes the task

first

6. Expecting students to reproduce
knowledge in the same way as it is

received

(1) is an effective assessment

strategy

(2) 1is problemat.ic, because indivi-
duals interpret experiences and
do not reproduce knowledge as

it is received

(3) is good, since We record

everything as it is in our brains

(4) is good, since it is easy for the
teacher to assess

7. When students are given an

opportunity to discuss a problem in
groups, their learning curve

(1) remains stable

(2) declines

(3) remains the same

(4) becomes better

P-1/1

Scanned by CamScanner

6.

+frm uhfEf@ i w8 EE
zr#i’t'eﬂmmmmt

(1) ﬂ‘ﬁmﬂmfmﬂﬁmﬂ

(2) - T UF W 2

(3) mﬁ%‘ﬂiﬁﬁﬁﬂzﬁ'ﬁmﬁ%ﬂ

&

(4) et w1 =7 T A uaaﬁa

6. maﬁﬁﬁwaﬁmmﬁa%mm‘x
mmﬁgzuﬁam%ﬁﬁawﬁﬁﬁ

=3 Tew T ?
(1) @mwgﬁﬁ%

(2) Wﬁ%,ﬁﬁwﬁﬁ A R
e A & A I T A

3) ot &, T S off Ta T H R
) Tt T T ©

4) m%,aﬁ%vﬁﬁ‘m%ﬁm
HATheH | T

& sEm R W@ R, W
& T

7 ﬁaﬁtﬁﬁiﬁ@mﬁﬁé«’tmm?ﬁﬁ
g

(1) R R
(2) T T ¥
(3) WO T

(&) ﬁsﬂiﬁm%
| P



http://upscfever.com

~ #\g |

8. The pace of development varies
from one individual to another, but
it follows pattern.

(1) a haphazard
(2) an unpredictable
(3) a sequential and orderly

(4) a toe-to-head
9. Which one of the following is correct
about development?

(1) ‘Sociocultural context’ plays an
important role in development.

(2) Development is unidimensional.
(3) Development is discrete.
(4) Development begins and ends at
birth.
10. Why do individuals differ from one

another?

(1) Due to the inborn charac-
teristics

(2) Due to the interplay between
heredity and environment

(3) Because each individual has
received a different gene set
from his/her parents

(4) Because of the impact of the
environment

11. Family plays role in
socialization of the child.

(1) an exciting
(2) a primary
(3) a secondary

(4) a not-so-important

P-1/1
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12. Which one of the following is a

13.

14.

15.

P-1/1
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correctly matched pair?

(1) Formal operational child—
Imitation begins, imaginary play

(2) Infancy—Applies logic and
is able to infer

(3) Pre-operational child—
Deductive thought

(4) Concrete operational child—Is
able to conserve and classify

A child says, “Clothes dry faster in
the sun.” She is showing an
understanding of

(1) egocentric thinking
(2) cause and effect
(3) reversible thinking
(4) symbolic thought

According to Piaget, children’s
thinking differs in from adults
than in

(1) size; correctness
(2) kind; amount
(3) size; type

(4) amount; kind

Which one of the following is an

example of scaffolding?

(1) Giving motivational lectures to
students

(2) Offering explanations without
encouraging questioning

(3) Offering both material and
non-material rewards

(4) Giving prompts and cues, and
asking questions at critical

junctures
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16. According to Vygotsky,
learn

children

(1) by maturation
(2) by imitation

(3) by interacting with adults and
peers

(4) when reinforcement is offered

17. Kohlberg has given
(1) the stages of physical develop-
ment
(2) the stages of emotional develop-
ment
(3) the stages of moral development

(4) the stages of cognitive develop-
ment

18. Which one of the following
situations is illustrative of a
child-centred classroom?

(1) A class in which the textbook
is the only resource the teacher
refers to

(2) A class in which the students
are sitting in groups and the
teacher takes turns to go to
each group

(3) A class in which the behaviour
of students is governed by the
rewards and punishments the
teacher would give them

(4) A class in which the teacher
dictates and the students are
asked to memorize the notes

19. Intelligence is
(1) a singular and generic concept
(2) the ability to imitate others
(3) a specific ability
(4) a set of capabilities

P-1/1
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20. Early childhood is

2

22.

23.

P-1/1
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period for

language development.
(1) an unimportant
(2) a sensitive
(3) a neutral
(4) a not-so-significant
1. A teacher remarks in a co-education

class to boys, “Be boys and don't

behave like girls.” This remark

(1) is a good example of dealing
with boys and girls

(2) reflects stereotypical behaviour
of discrimination between boys

and girls

(3) highlights the biological superi-
ority of boys over girls

(4) reflects caste discrimination

Assessment

(1) should actively promote com-
petitive spirit among children

(2) should generate tension and
stress to ensure learning

(3) is a way to improve learning

(4) is a good strategy to label and
categorize children

Which one of the following
statements best describes
Inclusion’?

(1) It is the belief that some
children cannot learn at all.

(2) It is the philosophy that all
children have a right to get
equal education in a regular
school system.

(3) It is the philosophy that special
children are ‘a special gift
of God’.

(4) It is the belief that children need
to be segregated according to
their abilities.
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..... v uic  children from

‘disadvantaged’ background, a
teacher should

(1) try to find out more about them
and involve them in class
discussions

(2) make them sit Separately in the
class

(3) ignore them as they cannot
interact with other students

(4) give them a lot of written work

25. Which one of the following
behaviours is an identifier of a child
with learning disability?

(1) Abusive behaviour

(2) Writing b’ as ‘d’, ‘was’ as ‘saw’,
21" an *I¥

(3) Low attention span and high
physical activity

(4) Frequent mood swings

26. A child who can see partially
(1) should not be given education,
since it is not of any use to him
(2) needs to be put in a separate
institution
(3) should be put in a ‘egular’
school while making special

provisions
(4) should be put in a ‘regular’
school with no special
provisions
27. Learning
(1) has very little connection with
emotions
(2) is independent of a learner’s
emotions
(3) is influenced by a learner’s
emotions
(4) is not affected by a learner’s
emotions

I/1
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28. To enable students to make
conceptual changes in  their
thinking, a teacher should

(1) discourage children from thinking
on their own and ask them to
just listen to her and follow that

(2) offer an explanation in a lecture
mode

(3) make clear and convincing
explanations and have discus-
sions with the students

(4) offer rewards for children who

change their thinking

29, In the context of a primary school
classroom, what does active
engagement mean?

(1) Imitating and Copying the
teacher

(2) Enquiry, Questioning and

Debate

(3) Copying answers given by the
teacher

(4) Memorizing, Recall and Reciting
30. Children are most creative when
they participate in an activity

(1) under stress to do well in front
of others

(2) out of interest
(3) for rewards

(4) to escape their teacher’s

scolding

P-1/1

Scanned by CamScanner

28. o7 Fya ¥ TEURUTNE UREdT TH &g

Rranfet 2 qem == ¥ Ry fafiwm =
(1) 7=t B = @ = F o

Ty wen =R IR T FE
=ifee, 6 3 Rifeem @ g ofm 38

IR Wt

(2) A F ® # FEm WA
FE =Y

(3) TE 3 IvEE wA Ae AR o
ofee, @ R $ @ ==
FE =R

@) I T= B EER oAy R
A Fraw # oiads e R

29. Wufs Rl ¥ FE-HE F W |
wipaaga @ Fn o /7
(1) Teres o T S Tohe A

(2) Sfa-vgaE wW, W EH AW
ELERECIG

3) T g fau o Iw N RSl N
(4) T& FEAT, Feare R g

30. ¥= @9 waiU® ol B T, 9= o
et Ty & vym o §

(1) @ % T I TR F M
A e

(2) 3 v A

(3) JwhR % fou
@) e <l d = ¥ R

9 [ P.T.O.


http://upscfever.com

PART—II / wr—II
MATHEMATICS / 7o/

Directions : Answer the following questions
by selecting the correct/most appropriate
options.

According to the NCF, 2005, which
one of the following is not a major
aim of Mathematics education in
primary schools?

31.

(1) To relate Mathematics to the
child’s context

enhance problem-solving

(2) To
skills

(3) To prepare for higher education
in Mathematics

(4) To mathematize the child’s

thought process

32. Which one of the following should
be the most important feature of
Mathematics textbooks at primary

level?

(1) Concepts should be presented
from complex to simple.

(2) Concepts should be presented
in a strict hierarchical manner.

(3) Concepts should be presented
from concrete to abstract.

(4) Concepts should be linked to
higher classes.

32.

(1) = ¥ wof # T = U
(2 m—mﬂ%aﬁﬂaﬁm
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SPACE FOR ROUGH WORK / % %1 ¥ fofu sy
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33. Which one of the following
represents the correct sequence of Arfafad § ¥ F=-wn Aofisd wd 87
development of geometrical under-
standing?

(1) wafte fmo, fwewm,  sHeTRE
(1) Visualization, analysis, informal !
deduction, formal deduction
(2) ofenfer fmm, et B,
e Tomvn, freemm

(2) Formal deduction, informal
deduction, visualization, analysis

(3) weRes o, feciwo, o

(3) Visualization, analysis, formal frm, s TETRE A
deduction, informal deduction

s G 4) "mReR R, efwethe R,
Visualization, form eduction, Rreer, ST TR

(4)
analysis, informal deduction

34. Trafefag # ¥ S9-91 521 & 27

34. Which one of the following

statements is true?

(1) T ve R w0 aieE
e s =nfRw)

(1) Zero should be introduced at
the time of teaching place value.

(2) W WH ach WuW den Y e
(2) Zero should be the first numeral arfu)
to be taught.
(3) Zero should be introduced after (3) ==t # wem gﬁﬁﬁm B F w°
children develop number sense. A H U ST =R

(4) Zero should be introduced after (4) €A 9 F 1% Y 1 IR fn s
number 9. i\

SPACE FOR ROUGH WORK / % &M % foig wime
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35. A teacher plans the following | 35. #41 llI ?Wﬁn g faAtATEA
activities to introduce the concept of 1 afEd | F
‘half to Class III students : frEaTdl F AT A
A. Shows pictures representing A, faa fzEm 2, faad LU
‘half’ fm T 2
Writes symbol for ‘half B a E fazﬁm%
Divides many types of concrete s gzt F1 AT H IECUED]
materials into ‘halves’ C. dgd |l Hd 9< s
Faa1 2
D. Uses story or words to represent ’ £
‘half’ e D. FaEl a1 5 F 94@m " ATl e
Which one of the following is the e §
correct sequence of the activities S foAfafaa @ @ fFarFaT
that the teacher needs to follow? A i B ko - 1AL
F-m | AofiEa ATAT FA AN
(I) C, D, A B
(1) C,D, A, B
(2) A B, C, D
(2) A, B, C D
(3) B, A C, D
3) B, A C D
(4 C,A D, B
(4, C! A’ D’ B
36. Which one of the following is true sfepmg 2
about teaching and learning of 36. Fa 1 AT F Trﬁ’m faram =i , -
Mathematics in Class I and II? fom frafafaa § & F=-1 99 27
(1) Only oral Mathematics problems (1) =& 1 37 11 8 Fad nfora F WiE
should be done ir: Class I and II. TSt 1 FOET A MR
(2) Mathematics should be inte- 2) @ = 7= faugt 34 & 9o, Fen
grated with other subjects like & 3 T TR ST TR
language, art, etc. | ' |
(3) Mathematics should not be (8) wem 1+ 11 7 7o+
taught in Class I and II. e |
(4) Lots of opportunities for practice 4) sawm ¥ fag qFA  AaF  FIH
should be provided. 3ITe=Y FE AH =10 |
SPACE FOR ROUGH WORK / % #M@ % fou sz
P-1/1 12
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37. g; 10&1X111=I;l10000+11>< p 37. 3z 1001x111=110000+11x%
en i i
space is s I I S ik 2, 9 7w o gem 2
(1) 211 (1) 211
ks (2) 101 (2) 101
i { 3) 111 (3) 111
(4) 121 4) 121
38. If (the place value of 5 in 15201) | 38. IR (15201 # 5 = Tur ww)
+ (the place value of 6 in 2659) + (2659 ¥ 6 &1 T °H)
=7x =7
then the number in the blank .
space is ?, O e wm & e R
(1) 900 (1) 900
(2) 80 (2) 80
(3) 800 (3) 800
(4) 90 (4) 90
SPACE FOR ROUGH WORK / % %1 % fu s

13 [ P.T

Scanned by CamScanner


http://upscfever.com

Y
# v  § l
-
AT AR
39. If (the product of the common 39. 3l (36 3R 48 ¥ wd 3 A
positive factors of 36 anpg 48) &1 OHEE) = 0999+9x _____
=999+9x ___ | then the number o & e gl
whjch. will come in the blank
space is
(1) 90
(1) 90
2) 9
@ o (2)
3) 27
@) 27 2
@) 81 (4) 81
40. If the difference of remainders, . df 26679 F 39  um %ﬁm‘ﬂ 32
obtained on dividing 26679 by 39 29405 1 34 ¥ WM T3 T W
and 29405 by 34, is divided by 18, SR A 18 A WP B S, A Qe am
then the remainder will be
) 9 (1) 9
2 3 (2) 3
3) 5 3) 5
(4) 8 (4) 8
SPACE FOR ROUGH WORK / % % % U e
P—I/I 14
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41. (The smallest common multiple of 41. (36, 54 3 60 F FIG B ard o)
36, 54 and 60) +90is equal to +90 T 2
(1) 12 (1) 12
(2) 5 2) 5
(3) 6 (3) 6
4) 10 (4) 10
42, Sonu has five dozen toffees. He gave 42. T-I’FL% T Wie S 2T §) I
3 of these to Amita, £ of these to Anil 1 wm s @, 2w A A3
and {5 of these to Hamida. The & W g % fEn W o s
number of toffees left with Sonu is ZRat 6 ge ®
) U (1) 11
(2) 5 (2) 5
3 7 43) 7
4) 9 (4) 9
SPACE FOR ROUGH WORK / T %M % fu smr

Scanned by CamScanner
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43. If ] 12 ones + 12 thousands
=11012+ tens
then the number in the blank
Space is
(1) 112
(2) 101
(3) 110
(4) 111

44. 51 litre and 750 millilitre of milk is
filled in 23 bottles, each of the same
size. The quantity of milk in 16 such
bottles is

(1) 37 litre and 600 millilitre

(2) 34 litre and 400 millilitre

(1) 112

(2) 101

(3) 110

@) 111

a4. w5 € (ae) A 23 et § 51 A

dr 750 e @ v S @1
16 et § g & A

(1) 37 e 3l 600 M

(2) 34 e 3t 400 faferediet

(3) 35 litre (3) 35w
(4) 36 litre (4) 36 i
SPACE FOR ROUGH WORK / 1% %M & f&u we
P-1/1 16
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A distance of }2 centimetre on a

map represents 200 kilometre on
the ground. If two cities arc
1800 kilometre apart on the
ground, then their distance on
the map will be

(1) nine centimetre
(2) three and a half centimetre
(3) four and a half centimetre

(4) six centimetre

Which one of the following is not

correct?

(1) One millilitre is one-hundredth

of one litre.

(2) One lakh
hundred thousand.

(3) One crore
hundred lakh.

(4) One centimetre is
hundredth of one metre.

is equal to one

is equal to one

one-

45, fmlﬁn‘mfv'mm,ﬁﬂ‘mmﬂqﬂ,qﬁm

200 Frenfize 1 gh A Fefa wh B
afz ufs w0 @ Fm 1800 fremhz A1 Fh
vt fiega %, @ vt w3k 3 #vh

(1) +h #nfrx
(2) g &= Fnfrz
(3) @3 9w A

(4) B: wEZ

a6. Frefafaa § @ Fa-a1 wd 4t 27

(1) wm Tfrelie, w e # w2

(2) T W@ TR B TH A EALF |

(3) T HUT TR } T € A F

(4) Th TR, T T F A

P-1/1
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R @@ 13 cm §, 11em
AT TATHER ED|
47. A cuboidal box is 13 cm long, 11 cm 47 :‘T‘gl 3t 9 cm £l RS
broad and 9 cm high. A cubical box - 3 ag @ =@ A 1om 9
has side 12 cm. Tanu wants to pack (b ¥ BT wreedt 31
3060 cubes of side 1 cm in these an'é_3060 b qﬁgﬁqﬁ'ﬁ, 2
boxes. The number of the cubes left # g,
unpacked in these boxes is
(1) 45 (1) 45
(3) 28 (3) 28
(4) 30 (4) 30
48. The length and breadth of a smd H et @ e e
rectangle are 48 cm and 21 em 48, Tl 21 el ot H g
; 3R 21 cm
respectively.  The side of a square 3 £ =T W N-forerd 2 T
is two-thirds the length of the T Ed ) = R
rectangle. The sum of their areas (in PR (a-'f cm )
square cm) is
(1) 2123
(1) 2123
8
(2) 2028 2} o2
(3) 2030 {d) 2034
(4) 2032 (4) 2032
49. The product 672 x 36 x 25 equals 49, TUFE 672 x 36 x 25 T B
(1) the number of seconds in 1 week (1) 1 wHTE ¥ Tehel hl T
2) the number of minutes in ;
) S (2) 7 wwrE & fiet i wem
(3) the number of hours in 60 days (3) 60 farit 3 =&t it T
(4) the number of seconds in 5 days (4) 5 Tt & aehst Y@=
SPACE FOR ROUGH WORK / % %™ % fq s
P-1/1 18
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50. When fresh fish is dried, it becomes 50. =@ amn wafam = gaE Aqw B, @
one-third its weight. Savi bought IR R vw-foed ® s Ry meh
2709 kg of fresh fish at the rate of 3 2709 kg =N Owelt € 27 ufd kg

¢ 27 per kg and, when dried, she Gl 3w = gEm ¥ qmm
sold them at & 97.5 per kg. She o ey

\\

earned in all ¥ 97-5 9fd kg Ft W AT R\ @ FA
1 g3

(1) ¥ 158745
(1) ¥ 158745

2) ¥ 14709

a st (2) ¥ 14709-5

3) 1 .

= A (3) 147895

(4) ¥ 148995 Wi ¥ s

51. Juhi travelled a distance of 16 km
by bicycle at the speed of 15 km per | °1* T A amEntRd 70 16 km X

AR T

hour, 20 km by scooter at the speed 15 km 3fq w1 i
of 50 km per hour and 50 km by car 20 km R 3 50 km ¥ w1 R =@ F
at the speed of 60 km per hour. The Gfl'( X FW S0 km K 0 60 ki W
total time (in minutes) to travel A A ¥ @ BN H P BT
these distances was # @ ga i (B ) on
(1) 138 (1) 138

(2) 88 (2) 88

(3) 114 3) 114

4) 144 (4) 144

SPACE FOR ROUGH WORK / 1% &M & f¥u we

P-1/1 19 [ P.T.O.
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52. Which one of the following is | 52. T ¥&% 3§ FR-g gd-SE I
prerequisite to understand decimal ﬁ'!:[ﬁ’-‘ff@'ﬁ? .
representation of a number? B =R
1 b i
(1) Subtraction (1) sHaeer
(2) Place value
(2) T AR
(3) Multiplication
(3) Tom
(4) Addition
(4) @
§$3. The four fundamental operations in
arithmetic are :
53. i 1 =w ey diad &
(1) calculation, computation,
construction and forming
equation :
(1) ofwem, @A, @EWowE 3R
TR SHET
(2) addition, multiplication,
converting fractions into
decimals and construction of e
regular shapes () @m, gon, B w1 e R}
3R TH ATHAAT Y =T HEAT
(3) addition, subtraction, multi-
plication and division (3) AN, e, om 3R s
(4) addition, division, finding peri-
meter and area (4) T, AT, T 3R SEwe T S
SPACE FOR ROUGH WORK / % %™ % ffu wme
P-1/1 20
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54. A teacher is teaching ‘addition’ to
Class II students. Which one of
the following is the most suitable
strategy to follow?

~

(1) Word problems should be

used only for the purpose of
assessment.

(2) Addition should be introduced

through word problems.
(3) Word problems should be done
at the end of the chapter.

(4) Word problems should not be

done in Class II.

55. A teacher of Class II gives the
following word problem on ‘addition’

to students to solve :

“A basket contains 5 apples and
7 more apples are added to it. How
many apples are now there in the
basket?”

This type of word problem belongs
to which of the following models/
categories?

(1) Segregation
(2) Repested addition
(3) Aggregation

(4) Augmentation

54, man 1 3 e B owh s A
(<) Rran @ %1 P # @ A

3t 1 g waiiF 39 87

(1) e sl w5 S e e 8
£ < =1e)

(2) A (Sg) B wfRE W T WA
FET AT

(3) RS Wi B A F 3ia § FA
ST =R

(@) wan 1 A wiE FE B A FO
e

s5. @@l 1 % Wem 1 Am (Se) &
Srffaa e v @ FrafdE ® e
F ¥ & :

‘o Fed # 5 ¥ ¥ IER 7 A AR
<1 fw o) o/ A § fee ¥ #Y

@ TR mies s el § 4
fa utew /Ao & TEfa R7

(1) JoRR

(2) am A TR

(3) Wg=H

(4) wadA

SPACE FOR ROUGH WORK / T% %M ¥ fou e

21 [ P.T.O.
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56.

“Errors Play an important role in
Mathematics.” This statement is

(1) false, as errors  indicate
carclessness
(2) true, as they pgive ideas

about how children construct
Mathematics concepts

(3) true, as they give feedback to
students about their marks

(4) false, as there is no scope of
errors in Mathematics

s6. w7 3 91 T T A 2

TEFAL

(1) TT=A, FIE 29 argE] el €

(2) w#, F|iE g 39 = 2 = A=A
TIT'H' ] a1 78 =R T

w4 2

-

(3) @A, wHitF 7 frada =1 == wwE
F AN g $r2aF 241 2

(4) e, FEIE AR T3S s =
T2

57. =& IV ¥ fanfddi 51 aozm = o &=

57. Which one of the following teaching- : : B oy &
learning materials (TLM) is best ‘Tlﬁ' 17%6 gz ¢, Fefatad § § 9-91
suited to explain ‘1L is greater than Rram- e T (Jo Teo o) TR
a5 to Class IV students? TG 27
(1) Number chart (1) ¥ =
(2) Abacus (2) T (TE=a)

(3) 10x10 Square grid (3) 10x10 Fmizd firg
(4) Dienes block (4) =9 =w
SPACE FOR ROUGH WORK / 1% ¥M ¥ Ty wma
P-1/1
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58. W}‘lich one of the following is best 58. 21 71 TR AUF A fAmA =T aﬂfﬁ
suited for comparison of sizes F Ol (FEEen) FgEA 3 F fom
(areas) of two or more two- N < j e Y
dimensional objects? a4 i PH-U T A g
(1) Estimation

(1) ATF=A
(2) Observation 4
(2) T&am
(3) Superposition .
: Pt (3) HEATEW
(4) Using non-standard units = "
¢ ; (4) ASTHTITE THIEA F WA

59. ‘Mathematics puzzles’ at primary ’ e o

level help in 59. wafEE = nfm f1 wefeE W
FAl 2
(1) providing fun to students o S
(1) Taenfdat 1 wAM=A W21 F3 H
(2) testing problem-solvin skills o . -
&P ¢ (2) wEER gEHE F B
(3) promoting problem-solving skills R o E
(3) @wEm gEga & wEe F redtiead
(4) identifying brilliant students of AN
the class . o .
(4) Fe F WAWTETR Tl =t TEEEH
g

60. Mathematical communication refers

to
60. T TR0 I FA @
(1) ability to solve problems
. . (1) GEene o i awdl

(2) skills to participate in

Mathematics quiz (2) T SR B W A
(3) ability to speak in Mathematics 3) o 3 A § AR R e

classroom
(4) ability to consolidate and (4) o Rl

organize mathematical thinking HA I &gHA

SPACE FOR ROUGH WORK / T% Fd * fag SR
D_T1/7 24 [ P.T.O.
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PART—III / ) —
ENVIRONMENTAL STUDIES
3 ¥ fog adt/@=d
= 3 3w 24 o [oIG
Directions : Answer the following questions | fA8% : feferfad el
by selecting the correct/most appropriate | 3ugw fa@ed gl Fiee
options. & forfépr T :
61. F& V Tk feardt @
61. A Class V teacher takes an ot & 3R gt BT Eﬁ?fjf{ %Er:'am Fl
aluminium foil and puts it in water 5 98 FW o @l ! 5 i R a
and shows that it floats. She then Trga SR 4 gardl (ﬁa‘lgﬂ) Crardt 2
crumples and squeezes the foil gt # ered! 2 adl frenfafat
tightly and puts it in water again 5 9% gad 21 9@ F a7 Trenfi 3%}13
and shows to the students that it Ay 3 #ro 34 & g et ¢ fo w@
sinks. She then asks the students to i 7ot | 36 e &1 IW A & frafafaa d
think and give reasons why they 3 A yFHul @ H wam e
think this has happened. Which one ? )
of the following process skills will be ST
used in answering this question? (1) =TT
(1) Classifying (2) rEErRT
(2) Observing (3) HM9A
(3) Measuring (4) fteped Gl
(4) Hypothesizing ¥ Rren-vre & ’
qgfatn A :
62. In the context of EVS pedagogy, all o e ¥, frafafaa @t aedE
of the following are desirable anamg 3
practices, except 1) a6 S (wfee) F1aE A
(1) nurturing the identity of the 52)’ pink T Sy Nut
child i fere : 5
(2) acknowledging the superiority of T -gEE A R Am
textbook knowledge over actual H _
observation _ (3) urEu-Tgal 3 derdl fit wgear W
(3) promoting plurality of texts and IR
contexts 3m ﬁﬁ:‘ m-{ ST -HTHTH
(4) building capacity for critical *) ¥ fore a;m-ﬁafi? O
thinking and problem-solving . s’
63. Mahesh, a Class IV teacher, plans to | 63. He¥ &1 IV & fherss 1 a FH-[E
sensitize the students to the concept FEurn R Rignfiat 6l daeaeiia =™ %
of ‘conservation of trees’. Which one fore a7 #) Fefafas § @ Sw-d
of the following activities is most T Ay 39 39T & o wafftes J9gh
suited for this purpose? 77
(1) Motivating each student to (1) T MY H 3IqR AR IGFT 907 FG
adopt and nurture one tree % foru e frameff =1 S1RRfE =
(2) Encouraging students to partici- (2) T i § e Y ¥ R
pate in poster competition I R —" S
(3) Making teams of students for
group discussion B) ¥ v F fau RenfRy ¥ TR
(4) Conducting a debate competi- RRLEL
tion (4) aR-faame i w1 smism s
P-1/1 24
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04, In LVS, chilg,
Pl N partj j
barmng Craftg and lcul_arly g
s arts in groups
A. it pr -
oo p Omotes peer learning
c, IMproveg social learnin
. g
;:Eéldren become happy
o
thelijr nd c\;r;tal: enthusijasm W;I;g
ive
appreciateq Bl
D. it Promote

8 discinl .
class discipline in the

Select the correct option,
(1) A, B and p
(2) A, B and ¢

(3) B and C
(4) A and D

65. fExPerimentation’ is one of the
indicators of assessment. Which one
of the following is the most
appropriate  way of

. : assessing
experimentation indicator?

(1) Creative writing
(2) Demonstration
(3) Hands-on activity
(4) Picture reading

66. Students in primary classes have a
lot of alternate conceptions in many
topics like living-nonliving, water
cycle, plants, etc. The sources of
these alternate conceptions can be
A.
B,
G

D

family and community
textbooks and other books
teachers

stories and poems

Select the correct option.
(1) A, B, Cand D

(2) Only A

(3) Aand B

(4) A, B and D

P-1/1
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65.

66.

e @ W, 7= frwwan el
Rreren @t w8 ¥ ¥ R w1 A g
F 8, T

g URATE! AT N Agran T &
mwﬁ%ﬁmﬁmm%
Tt d gereHEal Ry ®
srh 2, @ 9 @O AW € 9 3@ wi
I ot T 8

D. g Fa i STgeE A

7d fee 1 AT

(1) A, Ba« D

(2) A, BT C

(3) B3R C

(4) ARD

A,
B.
C.

‘T wET T B T Hebaw B
et § @ EH-E1 T T F e
TraE H e FE P Al SII
wlint 37

(1) GoTH e

(2) Freg /v

(3) TEE Tty

(4) Fer-ge

wuft wenel # fentil UM IEw
T B S SeieuE @Y, B €,

y—welig-felfa, s@-=6, WY IR
ST SEUTTET % Bid B W ¢

A. TER @ 9EH
B. UEH-g&S T 3 TH

c. T ‘
D. gl T S
T2 fereen = gT)

(1) A, B, Cqa D
(2) Fad A

(3) ASRB

4) A, BTN D

{ PT.O.
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68.

69.
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Glass jars and bottles are dried well
In the sun before filling them with
pickles, Why is it so?

(1)
(2)

To remove the dust from them
To

remove the moisture
completely
(3) To make pickles tasty
(4)

To increase their temperature

Renu’s grandmother shows her a
dried-up well and tells her that
15-20 years ago there was water in
the well, but now it has completely
dried up. What could be the
reason(s) for drying up of water in
the well?

A. The soil around the trees, well
and nearby area is now covered
with cement.

B. A lot of boring pumps have come
up in the nearby area.

C. Nobody uses the well as there
are taps in everybody’s house

now.

(1) Only C

(2) Only A

(3) Only B

(4) A and B

An egret sits on a buffalo, because

(1) the egret sits on the buffalo for
fun

(2) the buffalo helps in the
transportation of the egret from
one place to another

(3) the egret wants to scare the
buffalo

(4) the egret and the buffalo have
symbiotic relationship

26
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67. e & TR T

68.

69.

S A, I I R
o, i 1 o o T
o = 47

(1) wﬁﬁ*{c"ﬁm%m

2) ﬁﬁ‘i“h’m%m

@) s R 7 F

4) ﬁmﬁqﬁﬂ%m

& od o T @ g Ran T
sach 3 f 15-20 9 wea F4 & 0,

@m/%wmﬁm%/m%?

¥, oy I SATE-TTE % T A
A ﬁ@gmmﬁzﬁﬁﬁmw%l

B, oa-arg 3 ge i aga W) s
ks d

C vdw wafe ¥ oW H @ WA F
o S ot 1 S T @ R

(1) %ad C
(2) Fad A
(3) ¥ B
4) A3 B

e 9 W Y3 B, Fih
(1) SN wHReH & e S w de@ @

(2) 99 TR F TH WH ¥ TR WA TF
HA-SM § 7eg FA B

(3) e %\ H ST T
(4) e TR S wEsE W dey R
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Which one of the followin

; g is n
function of roots for the e

plant?
(1) To provide humus

(2) To give support to the plant
(3) To absorb water and minerals
(4) To store food

Consider the following statements
about Karnam Malleswari :

A. She 1is a weight lifter of
international fame.

B. She is from Karnataka.

C. She has many records to her
credit. She could lift weights
up to 130 kg.

D.

She started lifting weights when
she was 12 years old.

The correct statement(s) is/are

(1) A,Cand D

(2) only A

(3) only A and D

(4) A,Band C

The following are some statements
regarding step wells or Baolis :

A. They are a traditional system of

water storage and conservation.

B. They were used as a community

resource.

C. They are found/constructed

mainly in rain-parched States.

D. They contain only contaminated

water.

Which of the above statement(s)
is/are correct?

(1) A, BandC
(2) Only A

(3) Only D

(4) A and B

27

70.

T1.

T2.

forg =i ®7

(1) U 9=

(2) e wE

(3) It AU WS 1 rarwivoer s
(4) viem siew/Efm e

w0 TRvad % fmm § IR Ry mw s
R fomm Hife

A, 98 FUEE EAG-WE WRmEE
(¥ formx) R
g FEH B B

I W T aga-d fEE s R
& 130 kg e FI R 331 TRt At

39 a8 12 99 & ot ot § | R
a1 1 v a4t

w8 w2/

(1) A, CTID

(2) Fad A

(3) FaA AR D

4) A, BTAAC

B.
C.

D.

Her T ruan Sl (A § elrE
frefifaa Fo FoF Ry R

A J v VERT @ GEW H IR
e B

B. WA B % 9§ I S Bl
o

c. = Fwin gema: wwi-Ra T A
B B

D. 39 %aw Gg0d i B 8

I & A H-W /A T R/
(1) A, B C

(2) ¥ A

(3) %ad D

(4) A3 B

[ P.T.O.
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73.

74,

75.

P-1/1

(4) Tiger

Worli’ is a traditional art form. The
Place “Worli is in the State of

(1) Odisha

(2) Rajasthan

(3) Bihar

(%) Maharashtrg

The neighbouring  States of
Tamil Nadu are

(1) Kerala, Gujarat and Karnataka

(2) Andhra Pradesh, Goa

and
Karnataka
(3) Goa, Karnataka and Kerala
(4) Kerala, Karnataka and

Andhra Pradesh

Which one of the following has the
sense of hearing so sharp that it can
make out the difference between the
rustling of leaves and the sound of
an animal moving on the grass?

(1) Vulture
(2) Silkworm

(3) Dog

28
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73. ‘Tl U UreRe wer @ v 21 el

74.

75.

e WM fFg a3 7
(1) sfifem

(2) TSEAH

(3) fmr

(4) WEHIg

Aftrerrg o freheedi/arivadi 19 &
(1) T, TR iR FAleh

(2) mmﬁaﬂaﬂtm
(3) T, FATew N e

(4) @, FAleH 3N oy wEm

freffan § ¥ fred) TR B e Tl

e et 3 °F @ g ¥ v F el
WiH R Tm W S ¥ T
S W IR gEHar 27

(1) firg
(2) "W = Fer
(3) Fw

(4) ==

&
£l

S s,
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76. 4 F1E =AM ¢ T FATEER W FA BN

AT A B, d9 A8 IFAF G H AR TN
yagh_ WA

(1) e
(2) ufwadt =@
(3) et 9w
(4) favm=a

i B gﬁﬂtha%laﬁaaﬁ
@qﬁm,maﬁaﬁm%\mm
3 dm, % @l % whE IR R

(@) e (Yo THe To)

78. qﬁsﬂﬁwaﬁiﬁm%ﬁmaﬁq@
o @ T B ower @ T R g

At &, Fi

(1) et @) A g e R e R
(2) T A g0 W W

(3) e e T B S

(4) wm@m@mmt,
ﬁaﬁﬁsﬁaﬁtmwm%

79. ﬁwﬁﬁﬂﬁ%aﬂa-mﬂzngﬁ@ﬁﬁ
qﬁmﬁﬁﬂ(a@h)ﬁ@mﬂﬂmm%?

-
-

T“’l ‘I"-:lcl]. One i3 )
thcdabad to Kera_lt;a; clling ~ from
tomes across ma.ny 8 Yy a traln, one

= . u
unnels are in the hiu;z?ls, Thess
(1) Aravallis
(2] Wcstcrn Ghats
(3) Eastern Ghats

77. The earth i
116 5 ot g Ders i asRlly
it is j >Wn’ on the earth and

Just relative. We, th
India, actuall » the people of
relatio ¥ stand upside down in
n to the people of
(1) Libya
(2) Algeria
(3) Argentina
(4) Alaska (USA)
78. It is advised to put oil on stagnant
water to prevent breeding of
mosquitoes. This is because
(1) mosquitoes are repelled by oil
(2) mosquitoes are killed by oil
(3) mosquitoes get stuck in the
layer of oil

(4) oil cuts off oxygen supply,
thereby stops the breeding of
mosgquitoes

79. Which one of the follovi.r'mg insects
does not live together mn a colony
like honeybees?

(1) Ant

(2) Termite
(3) Spider
(4) Wasp

1
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80. The structure of houses ln.rurfﬂ
area is linked to the chmapc
conditions in which they are built.
There is a village where houses have
following features :

* Houses are made
bamboo pillars.

* Inside of houses is also made of
wood.

* Houses are made almost 3 m to
3'5 m above the ground.

* Roofs are made with a slope.

on strong

If in this village it rains heavily, the
village should be part of

(1) Uttar Pradesh
(2) Rajasthan
(3) Bihar

(4) Assam

81. Kuduk’is a language of the people

of

(1) Manipur

(2) Arunachal Pradesh
(3) Jharkhang

(4) Mizoram

82. As per the NCF, 2005, which one

among the following is the theme of
EVS?

(1) Solar system
(2) Weather
(3) Energy

(4) Food

P-1/1
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83. Whi
thelg?r Oilne among the following is
gest argument in favour of

adoptin
el g a theme-based approach in

\\

1 .
(1) It helps in making teaching

more interestin ivi
el g and activity-

(2) It helps in covering a wide range

of concepts, issues and skills.

Lt helps. in softening subject
k:lcrjluru:lau-les and accessing
owledge holistically.

I . o

tt helps in giving a structure
o le_sson plans and makes
teaching more effective.

(3)

(4)

84. Stories are an important aspect of

teaching-learning EVS in primary
f:lasses. Which one of the following
is least appropriate reason for
including storytelling as pedagogy in
EVS classroom?

(1)

Stories

: cut across various
subject areas.
(2) Stories help in class
management.
(3) Stories provide contexts to
relate EVS concepts.
(4) Stories include experiences of
the people.
85. The content in an EVS textbook
should
A. avoid descriptions and
definitions

B. discourage rote learning

C. provide opportunities to the
child to question and explore

D. give only written information to
the child

Select the correct option.
(1) B and C
(2) Only C

83. uataw stegad # fm-aeg (ofm)-snaria
-1 F gaw AT TE 87
(1) m fem B w Tew R
ffrf- st == § Heg w R
@) @& smuRmsd, gE el Fwe &
a7q PR @ wmRE w3 A
ol B
(@) 7@ -l @ T (@) T
s dyoter # §F B WE FA J AR
T gl
78 rE-drIs B T T
i fem @ e W T #
HeE T

e Fael B wiEw SR
frar-dray § wtEl T TEEE e
%lqmaqméaaam-asaﬁm
wﬁ@m.ﬁm%wﬁm
A ¥ R Pt § ¥ FR-w @@
W IUGh I 87

(1) e o fr-ael 1 ad )
2) WWEWW'EWW%‘
(@) Pl e s s 8

(4)

84.

(3) A, Band C
(4) Aand D
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86. Which one of the following
statements about assessment
procedures is least appropriate?

(1) Preparing a list of learning
indicators and sub-indicators

makes the reporting more
detailed.

(2) Remarks like ‘fair’, ‘good’ and
‘very good’ give an under-
standing about a child’s
learning.

(3) Portfolios of children should not
contain only their best work but
all kinds of work.

(4) Giving personal details and
individual feedback to a child is
a desirable practice.

87. Read the following  question
carefully :

“Have you ever seen animals around
your house or school that have
small babies? Write their names in

the notebook.”

Which process skill is assessed

through this question?

(1) Hypothesis and experimentation
(2) Concern for justice

(3) Observation and recording

(4) Classification and discussion

88. Interdisciplinary nature of EVS
addresses environmental issues by

using the contents and methods of

(1) social science and environ-
mental education
(2) science .
(3) science, social science and
environmental education

(4) science and social science

32
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90. Which of the following is/are true

R

Ver-

89. The teacher of C

: lass V-
question - S V-A gave the

A.  Write five advantages of trees.

While the teache
r of Cl -
the question . ass V-B gave

B. What woulg happen if there
WEre no treeg on the earth?

What is the -

. natur f
questions? © O these
(1) A is open-ended, convergent

and B is close-ended, divergent

2 A is open-ended, divergent and
B is close-ended, convergent

3) A 1:s closc-endcd, divergent and
B is Open-ended, convergent

4) A is close-ended, convergent
and B is open-ended, divergent

about assessing learners in EVS in
Class 1?

A. Oral tests, as children may not
be able to write

B. Drawing, as children enjoy it

C. Teachers’ observation and
recording

D. There is no need of assessment
in view of ‘no detention policy’

(1) Onmly D

(2) Aand B

(8) C and D

(4) A, B and C
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PART—IV
Language—I
ENGLISH

; t—IV - N
IMPORTANT Candidates should attempt Qucstmnsl frgfl11 Pa (Q. Nos.
91-120), if they have opted ENGLISH as Language—1 only.

Directions : Answer the following 94, Which one of the following ig the

Questions (Q. Nos. 91 to 105) by selecting most important al::;azds;o;i:;l]mg?
the correct/most appropriate options. (1) Isttr 'i:::}':i?;es g ang
91. ‘flhiCh one of the follovyipg . 2) :ppfgzglftes whole language
lta: g;n;gsé llglag(::‘;agl;t prerequisite for (3) It is an effective way of learning

vocabulary.
(1) List of aims ang objectives of 4) 1t broadens their knowledge
the language to be learnt ) about various authors.
(2) Providing a good textbook to

children to learn the language 95, Dictation does not help learners tq
: i ing skil
(3) Using structural-situational (1) improve the?r readl.ng i
approach while teaching (2) improve their spelling
(4) Children’s motivation to learn (3) enhance their listening compre.
the language hension

(4) increase their concentration
92. A teacher asks students of Class III _ '
to describe their best friend. She 96. An English teacher after completmg

writes the students’ responses on a chapter from the textbook asks
the blackboard. At last, she states questions based on the text to
that all these describing words (1) keep students busy as the
on the blackboard are adjectives. chapter is complete

This is

(2) attract students’ attention
(3) know their comprehension
(2) Inductive method (4) maintain class discipline

(1) Incidental method

(3) Deductive method 97. Shreya, a teacher of Class v,

(4) Immersion method asked the learners to complete the
dialogue in the given boxes and
_ ] then to role-play the same using
93. The rise and fall of tone is their dialogues. She is developing
(1) Pronunciation (1) all, listening, writing, reading
and speaking skill
(2) Stress ; Sp o S.
(2) listening and speaking skills
(3) Strain

(3) reading and writing skillg
(4) Intonation 4) speaking and writing skills

P-1/1 34
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98. Which one of t

R

Vers

~

he following cannot

be us i :
ed in formative assessment?

(1) Olympiag
(2) Retelling Stories
(3) Role play

(4) Debate
99, T ing- 3
S}‘:ii};&ng Learning Material (TLM)
€ used by teachers as it
1 .
(1) H;(;tlvates learners to further
Prepare such material at home
(2) supplements ¢ i i
eaching-
e ing-learning
(3) Prepares students mentally to
Sit in the class
(4) is not very expensive
100. While learning English as a second
language
(1) ?:here is no role of mother tongue
in learning L2
(2) the use of mother tongue will
facilitate learning
(3) the use of mother tongue will
create interference
(4) the mother tongue should not
be used by the learners
101. The process of assessment in
a language class should be
conducted
(1) for assessing the textual
exercises at the end of the
chapter

P-1/1

(2) to know the level of students
in the class

(3) to know the efficiency
teachers in teaching

(4) during the
process

of

teaching-learning

102,

103.

104.

105.

35

Scanned by CamScanner

As per the National Curriculum
Framework (NCF), 2005, multi-
lingualism in learning a language
should be seen as a '
(1) challenge for teachers
manage such classes

to

(2) hindrance in teaching-learning
English

(3) resource in teaching-learning
English

(4) challenge for students to learn

many languages

The most important factor which
is responsible for the differentiation
between language learning and
language acquisition is

(1) grammar of language

(2) assessment in language

(3) textbook of language

(4) language environment

Which one of the following is
an essential characteristic of a good
textbook in English?

(1) Every lesson should have
a proper introduction at the
beginning and a conclusion at
the end.

It should be based on the
guiding principles of curriculum
and syllabus.

(2)

(3) No difficult words should be
given in the textbook at primary
level.

(4) The maximum number of
textual exercises should be
given to practise at the end of
the lesson.

The maximum participation of

students is possible while teaching
English by the teacher using
authentic tasks through

(1) communicative approach

(2) grammar translation method
(3) direct method

(4) structural approach

[ PT.O.
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Directions : Read the passage given
below and answer the questions that
follow (Q. Nos. 106 to 114) by selecting
the correct/most appropriate options.

As I kept strict watch over my way of living,

I could see that it was necessary to
€conomize. I, therefore, decided to reduce
My expenses by half. My accounts showed
Nlumerous items spent on fares. Again, my
living with a family meant the payment of
a regular weekly bill. It also included the
courtesy of occasionally taking members
of the family out to dinner, and likewise
attending parties with them. All this
involved heavy items for conveyances,
especially as, if the friend was a lady,
custom required that the man should pay
all the expenses. Also, dining out meant
extra cost, as no deduction could be made
from the regular weekly bill for meals not
taken. It seemed to me that all these items
could be saved, as likewise the drain on
my purse. So I decided to take rooms on my
own account, instead of living any longer in
a family, and also to remove from place
to place according to the work I had to do,
thus gaining experience at the same time.
The rooms were so selected as to enable me
to reach the place of business on foot in
half an hour, and so save fares. Before
this I had always taken some kind
of conveyance whenever | went anywhere,
and had to find extra time for walks. The
new arrangement combined walks and
economy, as it meant a saving of fares and
gave me walks of eight or ten miles a day.
It was mainly this habit of long walks that
kept me practically free from illness
throughout my stay in England and gav
me a fairly strong body. 4

Thus I rented a suite of rooms; one for
a sitting room and another for a bedroom.
This was the second stage. The third was

106.

e o

The author could reduce pg

expcnSeS by half by

(1) renting rooms close to his office

(2) travelling in a bus
(3) cooking his own meals

(4) having only one meal a day

constituted a major part of

107.
the author’s expenses.

(1) Fares
(2) Dining out
(3) Entertainment

(4) Meals

108. The author’s choice of his new
residence enabled him to

(1) work longer and harder

(2) save money on fares

(3) keep things under control

yet to come.

P-1/1
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(4) be close to his friends
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109. What gave the author a fairly strong | 112. The word which is opposite in
body? meaning to ‘courtesy’ is

(1) Self-discipline (1) vulgarity

(2) immodesty
(2) Nourishing food
(3) rudeness

(3) Long walks (4) aggression

4) Yogic exercises )
) & 113. Which ‘part of speech’ is the

underlined word in the sentence
given below?

“I decided to reduce my exXpenses

110. The steps taken by the author to by half.”
reduce his expenses show that he
was (1) Adjective
(2) Adverb

(1) always short of money

(3) Noun

(2) saving money for emergencies
(4) Preposition

(3) miserly
114. “The new arrangement combined
(4) frugal walks and economy.”
The ‘voice’ in the above sentence
has been correctly changed in
, (1) Walks and economy are
111. The word ‘numerous’ most nearly combined By the p—
means arrangement.
(2) Walks and economy were
(1) many combined in  the  new
arrangement.

(2) goodness (3) Walks and economy have

been combined by the new

(3) politeness arrangement.

(4) The new arrangement had
combined walks and economy.

(4) enormous

P-1/1 37 [ P.T.O.
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Directions : Read the extract given
below and answer the questions that
follow (Q. Nos. 115 to 120) by selecting
the correct/most appropriate options.

How soon hath Time, the subtle thief
of youth, (1)
Stol'n on his wing my three-and-
twentieth year! (2)
My hasting days Sy on with full career,
But my late spring no bud or blossom
shew’th.
Perhaps my semblance might deceive
the truth
That I to manhood am arriv’d so near;
And inward ripeness doth much
less appear,
That some more timely-happy
spirits endu’th.
Yet be it less or more, or soon or slow,
It shall be still in strictest measure ev’n
To that same lot, however mean or high,
Toward which Time leads me, and the
will of Heav’n:

115. The poet presents Time’ as a/an
(1) spirit

(2) friend

(3) thief

4) enemy

116. The poet regrets that

(1) his teachers are not happy with
his progress

(2) his academic progress has been
very slow

(3) he is not popular with his peers

(4) he has not
maturity

attained inner

P-1/1
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117. The poet envies his friends, because
they

(1) are popular with their friends
(2) are blessed with robust health
(3) have attained inward ripeness

(4) have achieved name and fame

The inner maturity the poet longs
for will come

118.
(1) with the help of teachers
(2) by the will of God

(3) through hard work

(4) with the help of peers

119. The poet is about his future.

(1) unconcerned
(2) cynical
(3) optimistic

(4) pessimistic

120. The figure of speech’ used in lines

l and 2 is

(1) a hyperbole
(2) an irony
(3) a simile

(4) personiﬁcation
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123. Constructivism in lan

P-1/1

122. The use of dictionary does not

PART—V
Language""n

ENGLISH

stio
IMPORTANT : Candidates should attcmptL:l::;nage—‘
121-150), if they have opted ENGLISH as

from Part—V (Q. Nog,
ns
11 only.

Directions Answer the :
questions (Q. Nos. 121 to 135) by selecting
the correct/most appropriate options.

121. Stephen Krashen'’s theory of second

language acquisition does mnot

consist of

(1) the Input Hypothesis

(2) the  Acquisition Learning
Hypothesis

(3) the Learnability Hypothesis
(4) the Natural Order Hypothesis

help learners to

(1) be proficient in oral communi-
cation

(2) find the meaning of words

(3) check the part of speech of
a word

(4) find out how to say a word

guage learning
focuses on

(1) engaging learners in

exploring
new knowledge

(2) the role of imitation

(3) memorizing grammar ryles

(4) the dominant role of the teacher
in the classroom

following

126.

44
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124. The major

1265.

objective of teaching
English at primary level is

1) speaking English in  Britig,
(

acccnt -
2) scoring good marks in th,
( exams
(3) knowing the grammar
English . .
(4) using English in  differen,

situations of life

i ’ tudent ]
arning a language s s
i;klif:lg time should be increaseq
because
(1) teachers feel r.elaxed While
students are talking

(2) they enjoy spending time talking
with their friends

(3) they can learn the correct
pronunciation from each other

(4) they use the target 1anguage
for various purposes

A teacher of Class V is planning
to teach grammar. Which one of the
following might be a good strategy
for teaching grammar?

(1) Asking students to
note down the ryles
blackboard

(2) Giving clear
the rules with

carefully
from the

explanations of
examples

Asking students tg do drill work
only to learn rules

(3)

(4) Giving the practice of grammar

In context as g Strategy
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127. Which one of the following is not | 130. While teaching English, a tfeachcr
draw attention of

true in relation to the us i i
: e of ch is not able to
literature? of children some students sitting at the back.
She should
(1) Their readi .
. ng roficienc -
deteriorates and getspworse_ ¥ (1) stop explaining the concept

and start dictating the notes

to students

(2) It helps in developing learners’

imaginati :
gination. (2) scold them for not paying
attention
3) Lt _broadens  thejr mental
Apisom, (3) ignore them and carry on
(4) It makes them understand and (4) engage them by asking
reéspect diverse cultures, questions and evaluating her

teaching method

128 :}?;::h: Ssissmg a group work, [ 131. When a child learns a language
VIS ot dees or naturally, without much practice,

it is called

(1) cooperative learning process
(1) language adaptation

(2) assessing each child’s work i
(2) language learning

(3) taking initiatives in work (3) language acquisition

(4) showing concern for others (4) language generalization

. : _ 132. Th icati
129. A diagnostic test in English will help tea?:h Cgrr:lgrlr:;? IE:::T;Zs i};proach *

the language teacher to identify

(1) correct pronunciation of words
(1) slow learners in her class
(2) linguistic competence plus

an ability to use the language

(2) learning difficulties the learner \
appropriately

faces in English

. ' (3) the practice of selected and
(3) rtl}cl)i ;i::ll_; thl;C}}:eg‘: learner has graded structure patterns

(4) the structural accuracy of the
(4) intelligent learners in her class sentences

/1 45 [ P.T.0.
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133. Which one of the following is most

134,

135.

P-1/1

important in developing reading skill
at primary level?

(1) Ability to comprehend the text
already read

(2) Only knowing the correct order
of alphabet

(3) Ability to read words correctly

(4) Ability to read phrases correctly

While reading, a learner needs to

(1) translate the written symbols
into corresponding sounds to
grasp their meaning

(2) perceive and decode letters in
order to read words

(3) understand every word to grasp
the meaning of the text

(4) guess the contextual meaning
of new words to understand
the text

Diphthongs are
(1) double consonant sounds
(2) vowel sounds

(3) double vowel sounds

(4) consonant sounds

Read the passage ETeh
below and answer the questlonsiecting
follow (Q. Nos. 136 to 143) by S
the correct/most appropriate optl

Directions

; the
Raja Ram Mohan Roy is considered

pioneer of modern Indian Renaissance for
the remarkable reforms he brought abo‘.lt
in the 18th century India. Among his
efforts, the abolition of the Sati-pratha—
a practice in which the widow Wwas
compelled to sacrifice herself on the funeral
pyre of her husband—was prominent.
His efforts were also instrumental in
eradicating the Purdah system and child
marriage. In 1828, Ram Mohan Roy formed
the Brahmo Samaj, a group of people, who
had no faith in idol-worship and were

against the caste restrictions.

Raja Ram Mohan Roy’s father was a
wealthy Brahmin and strictly performed
the duties set by the religion. Ram Mohan
himself was also devoted to Lord Vishnu
and in his 14th year, he wanted to become
a monk but his mother, Tarini Devi

objected to his desire.

Ram Mohan viewed education as a medium
to implement the social reforms. So, in 1815,
Ram Mohan came to Calcutta and the very
next year, started an English College by
putting in his own savings. He was well
aware that the students should learn the

English language and scientific subjects

and that's why he Criticized  the

46
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policy of
Sanskrit schools. According to him, Indians
would lag behind if they do not get to
study modern subjects like Mathematics,
Geography and Latin. The government
accepted this idea of Ram Mohan and also
implemented it but not before his death.

Ram Mohan was also the first to give

~

overnment’ i
g v opening only

importance to the development of mother
tongue. His Gaudiya Byakaran in Bengali is
the best of his prose works. Rabindranath
Tagore and Bankimchandra also followed
in the footsteps of Ram Mohan Roy.

Ram Mohan Roy was a staunch supporter
of free speech and expression and fought
for the rights of Vernacular Press. He also
brought out a newspaper in Persian called
Miratul-Akhbar (the Mirror of News) and
a Bengali weekly called Sambad Kaumudi
(the Moon of Intelligence). In those days,
items of news and articles had to be
approved by the government before being
published. Ram Mohan protested against
this control by arguing that newspapers
should be free and that the truth should
not be suppressed simply because the
government did not like it.
136. Raja Ram Mohan Roy is known for

his

(1) literary reforms

(2) political reforms

(3) social reforms

(4) economic reforms

P-1/1
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138.

139.

140.

137. When he was a teenager, Raja Ram

Mohan Roy expressed his desire
to become a

(1) monk

(2) teacher

(3) businessman

(4) journalist

Raja Ram Mohan Roy believed that
Indians would lag behind if they
(1) did not learn traditional skills
(2) gave up study of Sanskrit

(3) did not study modern subjects

(4) forgot their cultural roots

Raja Ram Mohan Roy strongly

supported

‘{1) physical education

(2) frcedom_ of speech and
expression

(3) moral education

(4) rituals and observances

The word ‘eliminating’ most nearly
means

_(1) eradicating
(2) banning

(3) dismissing
(4) banishing

[ P.T.O.
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141. The word which is opposite in
meaning to ‘encouraged’ is

(1) misled
(2) disheartened
(3) suppressed

(4) crushed

142. Which ‘part of speech’ is the

underlined word in the sentence
given below?

“He was a staunch supporter of
free speech and expression.”

(1) Conjunction

(2) Noun

(3) Adverb

(4) Adjective

143. “Raja Ram Mohan Roy viewed
education ... .”

The ‘voice’ in the above sentence
has been correctly changed in
(1) Education is viewed ....

(2) Education has been viewed ...

(3) Education had been viewed ....

Read the Passage givey
Directions cwer the questions that
pelow and Noasn 1 to 150) by S‘E?lectmg
follow I{S’-ct/ma st appropriate options.
the co _
.. made Uup of sixty percent
S .
r body 1 . cssential fluld cvery

breathe, digest,

You

water and you 108€ t

ou
minute of every day as ¥

d hopcfully work up & sweat. It ig
an at you put back every drop,

: th
important eht 230 ml glasses

ing now, drink e
Starting day—that’s the
of water

minimum your body needs daily. 'I‘hat. is
the non-negotiable sugar savvy hydrat.mn
Mantra. Many times when you think
you’re hungry, sleepy,
irritated, you’re actually just dehydrated.
Drinking enough water actually helps

you combat
counterintuitive, but think about it. If you

every' Single

depressed, and/or

water retention. Sounds
are running around in a semi-dehydrated
state all the time, your body is going to
hang on to every single drop, giving you
that puffy, unhealthy appearance. When
you are properly hydrating, your body
gets the message that all systems are
operating smoothly and it continues its
work of flushing out your system and
ridding itself of the excess fluids,

If your goal is to lose weight, water is
a must. When you’re dehydrated, your
body sends out signals that you need
assistance. Many People mistake those
thirsty SOS signals for hunger and take in

(4) Education was viewed ....

P-1/1
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hundreds of extrg calories. They also
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don’t solve the real problem—thirst! | 147. When we are dehydrated, we

Drinking water can be a powerful appetite R
suppressant and allows you to cue into .(1) want to vomit
your real hunger. Your body also needs (2) are tired

plenty of water for proper digestion, so you

can get the most from the foods you eat. 6] aeedd food

You are less susceptible to food cravings (4) are about to collapse

when your stomach is full and you're

getting all the nutrients you need. Drink 148. The word ‘irritated’ most nearly

two glasses of water before every meal— means

youll eat less! Your body uses water (1) troubled
for fat. (2) uneasy
144, helps fight water retention. (3) frustrated

(1) Drinking enough water (4) annoyed

(2) Exercising regularly . ;
149. The word which is opposite In

(3) A regular morning walk meaning to ‘assistance’ is

(4) Having a balanced diet (1) resistance

(2) persistence
145. Our systems operate satisfactorily (3) existence
(1) when we enjoy a sound sleep (4) fragrance

(2) when we are properly hydrated
(3) if we consume lots of frulte and 150. “Your body uses water for fat.
vegetables The ‘oice’ in the above sentence
@) if g i e has been correctly changed in
excess is
(1) Water could be used for fat by
our body.
146. The best way to lose weight is to
(2) Water is being used by our body
(1) take weight-reducing pills for fat.

(2) exercise at least twice a day (3) Water is used for fat by your

body.
3) drink plenty of water
) Pl (4) Water was used for fat by our
(4) eat less starchy food body.
P-1/1 49 ( PTO.
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C{lrcn as ur;n Test Booklct COdC or Numb(_'r' an
dxscrcpaéllfget Code or Number), another set will b,
Answer
provided. : ite the correct Test Bogy,
: will write ; 5 et
5. The candxgatt;?umbcr as given in the o
COd;chct?Rﬂs“’cr Sheet in the A'ttendanc'c Shegey,
Boo hine will read the codcd.mformal’mn in the
6. A m}_\?(;‘ lsw(.‘l‘ Sheet. Hence, no information shoy]y
OM! ft r:‘1m:orr1ph:|:c: and it should not be differep,
f}'lr(;mc the information given in the Admit Carq,
7. Candidates arc not allowed to carry any texqyy
’ al: ial, printed or written, bits of papers, page,
mabe'IT:a'hone electronic device or any other
mobile p cxce,Pi the Admit Card inside g

anc [:iTCIC fo z
th

cnmplclcly W

side-2 of the OMR

material
Examination Hall/Room. o |
Mobile phones, wireless communication deviceg

8.

i itched off mode) and the other banneg
ff;"::lr; l:hzg;éc?mt be brought in the Exa_minatio'n
Halls/Rooms. Failing to comply with thjq
instruction, it will be considered as using unfajr
means in the examination and action will be taken
against them including cancellation of €xamination,

9. Each candidate must show on demand his/her
Admit Card to the Invigilator.
10. No candidate, without special permission of the
Centre Superintendent or Invigilator, should leave
his/her seat,
11. The candidates should not leave the Examination
Hall/Room without handing over their Answer
Sheet to the Invigilator on duty and sign the
Attendance Sheet twice. Cases where a candidate \
has not signed the Attendance Sheet second time | !
will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means
case. The candidates are also required to put
their left hand THUMB impression in the space
provided in the Attendance Sheet.
Use of Electronic/Manual Calculator is prohibited.

The candidates afe governed by all Rules and
Regulations of the Board with regard to their
conduct in the Examination Hall/Room. All cases
of unfair means will be dealt with as per Rules and
Regulations of the Board,
No part of the Test Booklet and Answer Sheet shall
be detached under any circumstances.
On completion of the test, the candidate must
hand over the Answer Sheet to the Invigilator
in the Hall/Room. The candidates are allowed
to take away this Test Booklet with them_-J
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/7 e gfEaeRt / MAIN TEST BOOKLET Test Booklet Code

¥9 T{ien giehl a9 a6 A Tiel W9 9% EEl T A

Do not open this Test Booklet until you are asked to do so.
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| W qdian giem & Roa smeo w [Ke T HEe o am | 1€ -
, Read carefully the Instructions on the Back Cover of this Test Booklet. 3
gftenferat & forg e : Instructions for Candidates : |
1. OMR 3O{-97 Tl ¥ AT TET B G I9F gy 1. The OMR Answer Sheet is inside this Test Booklet. When
:;T il Sim _ g . e you are directed to open the Test Booklet, take out the
gferert Giem w1 gl S, I-TA HHTA U TB-1 T ¥8-2 Answer Sheet and fill in the particulars on Side-1 and
T e Q Fa T /A aiadige U7 | faawor W) Side-2 carefully with Black/Blue Ballpoint Pen only.
2. @ 27T 2%, RC| J ¢ e | 2- The test is of 2% hour duration and consists of
. QTI% 3 U 2%, 902 & T T4 150 31 &1 % e 150 questions. There is no negative marking. i
= b ) 3. Use Black/Blue Ballpoint Pen only for writing
3. qumﬁamama?ﬁqam-qﬂﬂﬁﬂmwﬁ%ﬁﬁ‘m%ﬁa particulars on this page/marking Tesponses in the
wTe /e \TeraTse 3 % T R Answer Sneet
S%Tﬂ w3 gﬁf gﬁ?‘fﬁﬂ i3 4. The CODE for this Booklet is M. Make sure that the
4 ™ bl Mz |.?13 YA et o wm T HEA, CODE printed on Side-2 of the Answer Sheet is the same
I-T7 F YB-2 W oY Tha § fier &1 78 i gREA o as that on this Bpoklet. Also ensure that your Test
8 : . firem 2 Booklet No. and Answer Sheet No. are the same. In case
e gﬁ\ﬁmﬂ'@"l ST FAC-u7 FE &1 g firm e, A of discrepancy, the candidate should immediately report
wrireeff g wten gfe 2 3at-m3 R o o Frler =1 qe the matter to the Invigilator for replacement of both the
STaTTA S| Test Booklet and the Answer Sheet.
< 5. This Test Booklet has Five Parts—I, I, III, IV and V,
5. T@ e mgﬁg :Tiw T;HIS ;Ir %m. v 3t v &, f 150 consisting of 150 Objective Type Questions and each ‘
a{a E]E ﬂa&ﬁ H carrying me :
. . . . Part-l :Child Development and Pedagogy (Q. Nos. 1-30) -
wm-1 ;A ek sin Fen-ame (‘H‘F{.'Ho 1-30) Part-1I : Mathematics and Science (Q. Nos. 31-90)
q-11 ;T SR e (71 "o 31-90) gan—xlg : Social Studies/Social Science ( éQ.NNos.glilzgg))
MT-II : ETETER sveas /ams foam 3 ¥ art-1V: Language-1 (English/Hindi) . Nos. 9%~ ]
um—;:; . a1 (st /1%2‘1/ ) g:q He 31-90) Part-V :Language-1l (English/Hindi)  (Q- Nos. 121-150) | |
' g ( .139 91-120) 6. Candidates have to do Question Nos. 31 to 90 EITHER
WV r-In (S / R (¥ do  121-150) from Part-Il (Mathematics and Science) OR from Part-11I |
6. whmRiE = T o 31 % 90 A M-l (nfra o ) @ | f“c‘flﬂvs“‘d‘es/ Social Science). s il
"~ iy . Part-1V contains 30 questions for Language-1 and Part-
NTTI—II1 (ST STeae /AT o) & % 8 contains 30 questions for Langaage-ll. In this Test
7. M=y T -1 3 fT 30 T @i wm-v § -1 % fae 30 Eggklet, orrllly questions pertaining tohEnlglish and( Hindi
AT 3 R guage have been given. In case the language s) you
T faw g ®1 78 v E%a“ # Sad = & Wt | have opted for as Language-I and/or Language-Il is a
e ue feg e § | 4t sman-1 S /T -1 o 3ITTEH TRT laxéguage other than English or Hindi, please ask for
oy s 5 > a Supplement Test Booklet that contains questions
ot () sfeh @ =l o Sl ®/3, Al F =W on that Language. The languages being answered
T et it wten gt At e | fe araat HIFAT® must tally with the languages opted for in your
TmAmIREA AT W/EI%QT R _Eﬁ:r TT§ sraTatt Application Form/Admit Card.
srava B @ =R 8. Candidates are required to attempt questions in
- Language-II (Part-V) in a language other than the one
8. udiaeff sraT-I1 (m_v)%ﬁﬁ.{'qgm TG <F W91 & IS ol ;‘.hosen as Language-1 (Part-IV) from the list of
3T I W1 (W-Tv) # g s @ R anguages.
N p . 9. Rough work should be done only in the space provided in
9, wmﬁmg@mﬁmm%ﬁfmaﬁmmmwéml the Test Booklet for the same. pace®
10. T I FTT OMR ITR-T T & 3ifeh HL | W IR AREF | 10. ’gﬁe answers ere to be recorded on the OMR Answer
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Directions : Answer the following questions

by selecting the co
. rrect/most a
options. ppropriate

1. W}'lich one of the following is a géod
example of ‘gcaffolding’ (learning of a
problem-sol_vmg task till the student is
able to do it by herself)?

(1)

Offering a reward for solving the
problem quickly

(2) Tel.ling her that she can do it by
trying again and again

(3)

(4)

Providing a half-solved example

Telling her she cannot go home till
she solves the problem

2. Your.class has learners with different
learning styles. To assess them, you
would give them

(1) a uniform set of instructions and
subsequently label the children
according to their marks in the test

(2) the same set of tasks and tests
(3) a variety of tasks and tests

(4) the same time to perform on the
tests

3. Nowadays, there is a tendency to refer
to ‘wrong concepts’ of children as
‘alternative conceptions’. This could be

attributed to
(1) children’s understanding being

nuanced and their being passive in
their own learning

recognition that children are
capable of thinking and their
thinking is different from that of

adults

(2)

using fancy terms to describe

children’s errors
children being thought of as

adult-like in their thinking

P-1I/M
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(1) Discouraging multiple perspectives
and focusing on uni-dimensional
perspective

(2) Uming PowerPoint preésentations to
pive lectures

(3) Providing
discussions

opportunitics for

(4) Promoting students to compete
amongst themselves for the first
position

5. Which onc of the following statements

about motivation and learning is
correct?

(1) Motivation does not have any role
to play in learning.

(2) Learning is effective only when
the students are motivated using
external rewards.

(3) Learning is effective only when
the students have intrinsic
motivation—a desire to learn from
inside.

(4) Learning is effective only when
the students are extrinsically

motivated—motivated by external
factors.

. Which one of the following statements

about learning is correct?

(1) Learning is a passive receptive
process.

(2) Learning does not depend on
learner’s previous knowledge.

(3) Learning is equivalent to
acquisition of skills.

(4) Learning is facilitated by social
actions.

. Which one of the following is an

important activity to enable children to
learn?

(1) Reward
(2) Dialogue
(3) Lecture
(4) Instruction

P-II/M
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'wing statements

ey, -\ X ?
- / ;m’—l—'—r\) correct-
- | YeRomf eeds from birth
forward manner
and then it goes backwards.

(2) Developmental changes go forward
In a straight line.

(3) Development occurs at a different
rate among different individuals.

4) Development occurs at a very fast
pace from birth till adolescence and
then it stops.

9. Middle childhood is the period from
(1) 10 years onwards
(2) birth to 2 years
(3) 2 years to 6 years
(4) 6 years to 11 years

10. “Envi.ronmental factors do not play any
role in shaping an individual, since
gro“{th of each individual is determined
_by his genetic makeup.” This statement
is

(1) incorrect, since there have been
several researches to prove that
environment can have a major
influence on development

(2) correct, since genetic makeup of an
individual is very strong

(3) correct, since there have been
several researches to prove that
genetic material alone predicts an
individual’s development

(4) incorrect, since environmental
factors contribute little in an
individual’s growth and
development

11. is a process through which a
human infant begins to acquire the
necessary skills to perfornm as a
functioning member of the society.

(1) Development
(2) Socialization
(3) Learning

(4) Maturation

P-II/M
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\Q/l one of the
1 important
ment?

(1) Reinforcement
(2) Language
(3) Experience with the physical world

(4) Imitation

13. The cognitive ability that comes in
pre-operational period is

(1) hypothetico-deductive thinking
(2) ability for abstract thinking
(3) ability of goal-directed behaviour

(4) ability to take other’s perspective

14. Which one of the following is a correctly
matched pair?

(1) Social contract orientation—
Physical consequences of an action
determine whether it is good or bad

(2) Punishment and obedience
orientation—Laws are not fixed,
but can be changed for the good of

society

(3) Good boy and good girl
orientation—One earns approval by
being nice

(4) Law and order orientation—Ethical
principles are self-chosen on the
basis of the value of human rights

15. The concept of ‘private speech’ of
children as proposed by Vygotsky

(1) shows that children are stupid and
thus need guidance of adults

(2) illustrates that children are
egocentric

(3) shows that children love
themselves

(4) illustrates that children use speech

to guide their own actions

P-II/M
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17,

18.

19.

20.

R

learning cannot

(1)

perception
processes

its social context
reinforcement

a measurable change in behaviour

and attentional

(2)
(3)
(4)

Progressive education entails that the
classroom is

(1) in full control of the teacher, who is
dictatorial

(2) democratic and there is space given

to children for understanding

authoritarian, where the teacher

dictates and the students follow
meekly

free for all with the teacher absent
from it

(3)
(4)

Which one of the following illustrates a

person with linguistic intelligence?

(1) The ability to handle long chains of
reasoning

(2) Sensitivity to the meaning and

order of words and the varied uses

of language

Sensitivity to pitch, melody and
tone

(4) The ability to notice and make
distinctions among others

(3)

Language _____ thought processes.
(1) cannot determine the

(2) does not influence the

(3) totally governs our

(4) has an influence on our

A textbook of Class VIII has following
illustrations—women as teachers and
maids while men as doctors and pilots.
This type of depiction is likely to
promote

(1) gender empowerment
(2) gender stereotyping
(3) gender role play

(4) gender constancy

P-II/M
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18.

19.

20.
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I‘:: The 3 Fa
' { O £
§ cher needs to e /e fe foers w1 daewiia €9 6
I. diff "’ EoitCE|
i iterences based on  cogniti L RICI R ED
sqe . 0 i
capabilities and learning levegll:;ltlve . apihic il T
‘ amreied firaamd
II.
lcii:lf;rlzngc;escbatsed on diversity of qYe
ca i,
il B ste, gender, religion, g %ﬁr@ﬁfi{;’ =, e
Select the correct an
code given below. swer using the ;n:-qﬁq e ®
|
(I) Neither I nor II
1) ARIARAAI
(2) Only I ;
2) wad I
(3) Only 11 ' .
3) *ad I
(4) Both I and II °
(4) 13 11 31

22. Assessment by only paper-pencil tests
02, Fac HITH-UE el g ATHE
(1) promotes holistic assessment
(1) Hehel SATeheH ) gra 3 o

(2) limits assessment
(2) 3her I W R

(3) facilitates comprehensive
evaluation (3) o TR 1 G EH R 2

(4) facilitates continuous evaluation

i ired’ child
impaired’ chi 23. mmﬁmmﬁmmﬁ&fm%m@

23. A teacher has a ‘hearing
in her middle school class. It is e
important for her to iR’ s B SEe foe @ e @ T
(1) ask the school counsellor to talk to (1) forme™ HeTEHR (FIEEER) ¥ FR % 9
the child’s parents and tell them to a2 ¥ FfEE | @ B U 3T A
school a2 B frerem ¥ geR % fag e

withdraw their child from
e child sit at a place from 2) Hﬂﬁﬁmwﬁm%maﬁﬁﬁ
where she can se€ the teacher’s lips Rk ¥ B8 A IR F wE T 2 T

and facial expressions clearly _ S o

i ¢ the child _
g g)n;ﬂ;jer ;;ajr(i ] (3) 3% i Gha w8 98 =1 SR-1 ot
e Gl RNl

(2) make th

(3) keep poin
cannot do over

4) ridicule the child and make her sit .
X separately so that she joins an (4) g9 F E-HIHR R Y I WH W
for hearing impaired Sy % 7 AR FR A TN A D

institution
[ P.T.O:
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' 24. A Tectively respond to
~7 ‘e children from e A T A A Ry
[ - Jigadhv LDk A s’ of society by X
' ~ (1) Fa-FH& H TAH F= | ATTERAIEAR i
I Swapuug Ll pouagogy to the needs AT ﬁTW'a’s’w YT };

of every child in the classroom

R
3

= e qYT I8 Torerer™
(2) ignoring their background and (2) W‘@%ﬁ EACL
asking them to do chores in the & e i o 7Y hERt
school

(3) 3% Fa-Hy T AT TWH W &R, a6

(3) making them sit separately in the q I TG Y -1 7 Bt
classroom so that they do not mix
with other children

(4) ¥ s=0 N Sfaa ey Gl = R

(4) telling other children to treat the wErPfet =ER FE % e FEw

children from disadvantaged back-
ground with sympathy

25. At - T a2

25. Children with learning disability
(1) wga whma B9 ¥, afe R gfs-afe
1 Bl ?

(1) are very active, but have a low IQ

(2) are very wise and mature (2) =gd Ifemm o ahuem B9 §

(3) cannot learn anything (3) T Wt 7 Hw =

(4) struggle with some ts of :
learning aspects o (4) ™ % Fo veh § ud =8

26. Teachers can encourage children to 26. e =it = oo foemt & fag e

think creatively by X Hehl §
(1) giving them multiple-choice (1) 3= g - ey e
questions
(2) asking them to think of different @ 3@%@ FHIH % forg, fifim R |
ways to solve a problem * fore e
(3) asking them to memorize answers (3) I I Fzwy w0 ¥ o e
(4) asking them recall-bageq questions (4) ™ NIRRT - 31 W TR

s P el "’ -‘ ‘}“ T ) '- - : h '
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\9/ following

=eds to be
dren with

(1) They have a right to inclusi've
education and study in regular

schools.

They do not need any education
at all.

They should be segregated and put
in separate educational institutions.

only

)

(3)

They should be given

4
vocational training.

28. Learner-centred approach means

(1)

use of methods in which teacher is
the main actor

(2) methods where learners’ own
initiative and efforts are involved in
learning

that teachers draw conclusions for
the learners

(3)
traditional expository methods

(4)

Which one of the following is central to
learning?

29.

(1) Imitation
(2) Meaning-making
(3) Conditioning

(4) Rote memorization

In a constructivist classroom as
envisioned by Piaget and Vygotsky,
learning
(1) is offering of reinforcement by the

teacher

(2) is constructed by the students
themselves who play an active role

30.

(3) is dictated by the teacher and the
students are passive recipients of
the same

(4) happens by pairing of a stimulus

27, Y EEE@sl a9 =i ¥ IR FA &
APPSR SN g
g R s =nfee?

(1)3=%w1%aﬁﬁ1mmaﬂtﬁaﬁmﬁmaﬁﬁ (
AT F 1 AR U B s

(2) =% B R e B D @
e Bt

(3) ﬁqwﬁm@rﬁrm%@ﬁaﬁm
wearat # B =R

(4) 3% Faw EEE e fEn s
e

8. sfrmasdl-Hisa R # omm R

(1) A ffewmtt =t s, R e 7@ st
(qr) B @

(2) A Rftmf, s afm # sl
o) qEe 9 S afefed B ©

(S)ﬁﬁwﬁm%mmﬁ@
EEAGGR

(4) WTd SREATee faferat

29.121:%%31”4%@?-31@%95%%1%@
?

(1) Fg=T

(2) d-Fmim
(3) e

(4) @H AR FH

30. A du1 IFcER § ATER, Th TS
FH-FE A AT
(1) Thers g/ geiem R < @

(2) franfdel s @@ frm ST &, W
T Tl i 2

(3) R g foramn wma § qen fhemeft
ffsra yEeal 3 2

and a response
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QF \Q/es have to do

U gstigh NSl & her from Part—II

Y dth em il o) nce) Or from
L= il (Soclal Studies / Social Science).

T QeI Y ¥e G 31 § 90 A 7
w11 (o 3w A ST (AT

PART—II / 9mi—II
MATHEMATICS AND SCIENCE / Tifora 3t fagm

Directions : Answer the following questions

by selecting the correct/most appropriate
Options,

31. “Two complementary angles are in the
ratio 2 : 3. Find these angles.”

The above problem from NCERT
textbook of Class VII refers to

(1) higher order thinking as it
de;nand.s construction of a figure
using given information

(2) lower order thinking as it is based
on recalling information

(3) lower order thinking as it is based
on using the information in
concrete situation

(4) higher order thinking as it

: demands the interpretation of given

information, its analysis and use in
getting the desired information

32. “Prove that there is no rational
number whose square is 2.”

This type of proof is

(1) proof by contraposition
(2) direct proof

(3) proof by contradiction

(4) proof by counter-example

31.

32.

Fder : Prerfifien vl & I 3 % Ry /e
Iy fershed g

" TE B 2: 3 F agud A ¥l S T

i’

F VI R o o fo amo Ao

I -Th % IR ¥39 1 6 & T 9

(1) =@ aoft w1 e, wifs a7 emen
wa g % & g st & T B = A
Sl

(2 fm oft & e ?, wifs a8 T .
R i # '

(3) =1 At =1 fomm R, +Fif% a1 St
weag fRfd # I w0 w enurha B

(4) I=R it H REw R, FF g8 N
X ¢ 6 & g8 TR i s ) =,
o fveiwo T sg ofR 3wy W
Fifesa SR 98 s Y

“frs AR % W A o ofe dem w2,
e =1 2 21

3 TR Y 399y R

(1) whafeufa gra saufy
(2) v Iuufy

(3) Tiw s Swufy
(4) STIRTERO §R1 39Ul

SPACE FOR ROUGH WORK / T &® & Rt we
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rl o
Felorg atement .

quadrilateral
. ouner, then the
quadrilateral is a parallelogram.”

This statement is a/an

e W

-

wiuvCL

vacll

(1) definition
@) the.orem
(3) axiom

(4) proposition

34. ‘Representation’ in Mathematics does
not refer to

(1) expressing the number sequence
through geometrical patterns

(2) expressing the relation between two
variables as an equation

(3) expressing an important geometrical
result as a theorem

(4) expressing the given data through
graphs

35. In NCERT exemplar book for Class VIII
at the end of Unit 5, Understanding
quadrilaterals and practical geometry’,
lots of activities like constructing
tessellation, constructing tangrams,

etc., are given. One of the objectives of
such tasks is to help

(1) all learners with different learning

styles and’ to enhance spatial
orientation

(2) visual learners only to improve
their analytical skills

(3) kinesthetic learners only to
improve their visual thinking skills

(4) auditory learners only to improve
their creative skills

33.

34'

35.

= FyF W fEm i

“aft & Ipiw ¥ el wem B wRalie
w0 &, D TP T ww-ags
I® FUA B |

(1) aRvm
(2) Ty
(3) g

(4) |reR

it # “yeei’ IgE e T R

(1) we 3o # varfirdia e 7 3w w1

(2) A= & 7o gey H THER § AT H
(3) ?wwang?mfmﬁmﬁum@rmﬁm

(4) Teu o et i eerE T SRR HA

Fgl VI 6 o o So
T (T W) 8§
g o sufidm W@ % oW A
foramrem SR 5 Swg H =
T TR T g ¥ 3@ WK
T Y T R HEEA FA @

(1) aefht fenfiat A oroeht fafm i &
a1y T fRfy gama §

(2 A TR W, Faa A
IELRENIREES

T N H TR |

(3) wfesa arat foenfdal =, Faw I W@
TR A g A -

(@) Aarm foeriiat o, Faw FF TS
Felt B gURA §

SPACE FOR ROUGH WORK / 6 %M & Tt we

P-II/M
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VHret! qnf pthy 1g statements
T Pere projects 1n

AviCAliivasitavao .

(1) They make
Mathematics.

scoring easy I

(2) They promote inquiry skills.

(3) They enhance problem-solving
skills.

(4) They establish interdisciplinary
linkages.

37. Which one of the following activities
is mnot appropriate for ‘data represen-
tation and data interpretation’

(1) Newspaper report
(2) Project
(3) Survey
(4) Debate

38. If x=§ and y=2, then a rational

number  between  (x- y)! and
(x7t -y is
71 1

1) -—— 2) =
M -5 E =

2 71
3) = 4) ——
@) 3 (‘) =

39. If0.-001+1-01+1-001-(1-03x0-1)

+(1-11+0-1)+x
-1
10

then the value of x is

(1) 0-758 (2) 0-991

(3) 0-919 (4) 0-785

£ el 3w FeArtan e

36. T
§ a-w wé T &7

(1) & fora & o ST A T R
) ammﬁg‘mﬁaﬁ%!
(@) 3 - w FE T
(4)3{31;,%@313@&13?!%&??{%%«
o7, Frffn § @ Aw-w G A 5
i ateel ¥ Frewr & fae 30
wdt 87
(1) TR e
(2) wfeisHl
(3) wa&
(4) ar-feame
38, 7R x=2 y=% 3 @ (x-y)t W

3
(x—l_y'l)%ﬂwwwm%

(1) —% (2)

o+

71

2
@) 3 W -

39. 9 0.001+1-01+1-001—(1-03%0-1)
+(1-11+0-1)+x

-1
=1-4x(—1—)
10

A XxFAAR
(1) 0-758 (2) 0-991
(3) 0-919 (4) 0-785

SPACE FOR ROUGH WORK / % %1 % fu wmg
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40. Ij— 19X -11)-17,

; renf=tle Lvhl="of is
1) — ) —
(1) 13 (2) 31
14 9

3) -— 4) -—

(3) 5 (4) 3

41, 1f Y1058 X648 _ 15 1en the value of
X

X is
(1) 58 (2) 23
(3) 36 (4) 46

42. What is the value of A such that

3500 xY-3456 =40x A

is true?
(1) -15 (2) -2
(3) -3 4) -12

43. The value of m such that
&) =& -3
9 81 9
is

(1) -4
3) -6

(2) 3
4) 0

44. Let x =597x10%2 +73-5%x10%!. When
x is expressed in standard form as
6-0435%x10™, then the value of m is

(1) 24 (2) 21
(3) 22 (4) 23

45. If 2m—i=2, where m#0, then the
2m

value of m? +

40.

41.

42.

43l

45.

R 3(5x-7)-4(8x-13)=2(9x-11)-17
3@ XS wmamd

11x-9

9 14
(1) = (2) o

14 9
(3) == (4) 13
qﬁ\)IOSSX 648:18%,@1)(%!1“7{%

X

(1) 58 (2) 23
(3) 36 (4) 46
A 1 < WA g, AR

3/500 x 3-3456 =40 x A
e g7
(1) -15 (2 -2
3) -3 (4) -12

m & 98 WH, SEfh

&G -6

?R
(1) -4 (2) 3
(3) -6 4) O

. 7 e % x =597 x1022 +73-5%10%!

2 ¥4 x ® AHES 4 H 6.0435x10™ F A
=k P S, A mw AE R

(1) 24 (2) 21
(3) 22 (4) 23

TR 2m—2Lm=2 %, @ m=0, ™
2 1

16m? s " +16m2$‘m%
1 1
(1) 15 2) 4 (1) 1—2— (2) 4
1 1
(3) 25 4) 2 (3) 25 (4) 2
SPACE FOR ROUGH WORK / T %M % fau e
P-II/M
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\g/c“ +4 is

N A ol O ST AW | x2 -1
1 32 b x% 2% ~2

Tf. Ihe mean of the five observations
X, X+2, x+4, x+6, x+8 is 11. Then

the mean of the first three observations
is

(1) 20 (2) 9
(3) 12 (4) 2

48. A bag has 5 red marbles, 4 green
marbles and 3 blue marbles. All

marbles are identical in all respects
other than colour. A marble is taken
out from the bag without looking into
It. What is the probability that it is a
non-green marble?

7 5
(1) 7= (2) =
1 2
S @ 3

49. If ABxBA =BCB, where A, B and C
stand for just one digit and A # B # C,
then the value of A+B+C is

(1) 6 (2 10
3) 9 (4) 8

50. If x, y and z represent the number of
faces, number of vertices and number

of edges respectively of a polyhedra,
then which of the following is true?

(1) y-2=2z+x (2) x-2=2z-y
B) x+2=2z-y 4) z-2=x-y

51. Ravi purchased two articles for & 1,500
each. He sold them, gaining 6% on
one and losing 4% on the other. His
gain/loss percent in the whole
transaction is
(1) .gain, 2%

(2) loss, 1%
(3) gain, 1%

(4) loss, 1 -21—%

46. x* +4a T g!um@'g%
(1) x2-2x+2 (2 x?-2
3) x2+2 4) x?+2x-2

47, otg Ygot x, x+2, X+4, x+6, x+8 FH
e 11 ¥ g™ 99 T80 F T@em qm
(1) 20 (2) 9
(3) 12 4) 2

48. TH 94§ 5 @@ 9, 4 R F9 N 3
Fa Bl w2 U1 % faf @t wen
T, uiq wEew ¥ & 7 F fom g
TF a1 SR e S }1 98 R W@
T8 2, soht T wifean &7

7 5
@ @

S & a

1 2
(3) 3 (4) 3

49, 9k ABxBA=BCB ®, W& A, B
FIAd TH @ Ik w WeRld wd
A#B#C% @ A+B+CH IH ?

IR C
g 3R

(1) 6 (2) 10

3) 9 (4) 8
SO.TIﬁ'x,yiﬁﬁT zm:%rﬁagm%wﬁ,

et iR Rt 6 vl # weRifa = &, @

= 4 @ P g 7

(1) y-2=2z+x 2 x-2=2z-y

B) x+2=2z-y 4) z-2=x-y

51. T 4 & =xgd v ¢ 1,500 F whe1| 39
T 9 H 6% A W AA @ F 4% TN
WA W R ER A gen suw wnw/El
erera &

(1) =™, 2%
(2) M, 1%
(3) @™, 1%

(@) wf, 110
2
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R

-
- | Vorg of ving cases, the
LLC ateral ABCD is
not possible?
(1) AB=3-5cm, £B=125° «£LC=280°
BC=5-5cm and CD =5cm
(2) AB=4cm, BC=6cm, AC=8cm,
AD =5-5cm and DC=5cm
(3) BC=4-5cm, AD =5-5cm, CD
=5cm, AC=5-5cmand BD =7 cm
(4) AB=6cm, BC=9-5cm, ZA= 75°,
ZB =150° and £C =140°

53. Let x be the angle which is equal to its

complement and y be the angle which

is equal to its supplement. Then 2x +3y
1s equal to

(1) 360° (2) 180°
(3) 135° (4) 270°
54. How many sides does a regular

polygon have if its each angle is of
measure 108°7?

(1) 8
3) 6

(2) 5
(4) 7

55. ABCD is a quadrilateral in which
BD =40 cm. The lengths of the perpen-
diculars drawn from the opposite
vertices on BD are 16 cm and 12 cm.
The area of the quadrilateral (in cm?) is
(1) 600
(2) 500
(3) 560
(4) S80

56. Two sheets of paper with measure
22 cm by 28 cm are taken. Each sheet
is then rolled into a cylinder, one
having the height 22 cm and the other
of height 28 cm. The difference in their
volumes (in cm?3) will be

52. Ty feaf 8 @ fra foafa 8 a@ia ABCD #)

A 99a TEl 87
(1) AB=3-5cm, £B=125° ZC=80",
BC=5Scm AW CD =5cm

(2) AB =4 cm, BC=6Cm. AC=8cm,
AD =5.5cm # DC=5cm

3) BC=4.5cm, AD=55cm, CD
—Sem. AC=5-5cm 3W BD =7 cm
(4) AB=6cm, BC=9-Scm, ZA=75°,

/B =150° @ £C =140°

53. TH ehfw & x T T F R, AT T
TH 2 A y T TE F R, AT W
QU R T 2x + 3y T ?

(1) 360° (2) 180°
(3) 135° (4) 270°
5q. afz TH FHARAT F TEF F0 F AT 108° 7,
A1 gEf) e I wen F= A
(1) 8 (2) 5
(3) 6 4 7

55. ABCD ™% =g« ®, fsad BD =40 cm ?1
Frg@ ¥ @ BD W R T el H EEER
16 cm @M 12 cm & IS F EERTY
(=1 cm B) ®
(1) 600
(2) 500
(3) 560
(4) 580

56. FITS H1 4 e @ M ¥, AR AW 22 cm
% 28 cm 2| TRE e A Th de S ™
%,ﬁﬂﬁ@ﬁ@?ﬂlﬁ'ZZcmﬁ(@ﬁ"ﬁé
28 cm Bl IH AR (% cm ) § R
T

(1) 316 2) O (1) 316 2) O
(3) 216 (4) 294 (3) 216 (4) 294
SPACE FOR ROUGH WORK / T ERIERNIEUT
P-1I/M 15 [ P.T.O.
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3R
. AFQ ar ¢ ks
57. A square and a circle are formed using 57. an F Th gﬁ?@ A Th = 7 H;Hg; %g:_dﬁ'g
pieces of wire of length 5024 cm each. —— o] ¥ amkdl g9
The ratio of the area of the square to EElkl 3
that of the circle is 3T 2) m:4
1) 8:n 2) n:4 1) 8: 71
M @) (1 ) s 8
B) 4:n (4) n:8 3) 4:m
. #i uga &1 o 3
58. Anisha and Amit study in Class VIL | gg arfign afit sifid HAT VII o v A
Anisha told Amit that if the marks in i T A 76 ar IR "5 e, @ v B
Mathematics of each student in the 3 o % %iF § 5 # gfa Al I, 5 7w
class are increased by 5, the average f Eﬁ:‘i il =z M I8 oft el Th I
would go up by 5. She further says that S 3 ¥ fore &l & afftra 39 HEd T
it is true for all numbers. Amit does not ‘g’@'n Y 5% WH W A1 n Qe
agree and Anisha proves it by taking ga7 @R S i B
the case n, instead of 5. Anisha is using firg foem| @rftem A
(1) estimation (1) AT =l
(2) inductive logic (2) smmafiR @
(3) deductive logic (3) frmfas a6 w
4
(4) common sense (4) wH A H
59. Using technology-based games - i geetl F
involving factorization of numbers or 59. ARl W .@Tﬁ’ F NSFL T8
formation of new shapes by joining THES I fg-amarft 3“3”%5]
2D shapes, etc. AT S A1 B R, FH T
(1) helps teacher to manage students (1) ferenféfat =t Tifora =) TR H S @A
in Mathematics laboratory o e Y GEId HET B
(2) enhances students’ numeracy (2) frenPit $ e e IR gfpe
skills and computational skills 2ETaT R ST 2 :
(3) enhances students’ ability to ' oy ST
understand the concepts better as (3) ﬁmﬁiﬁﬁ i et §
they are able to explore, observe % gfs @ A1 3 o A < TgER
and infer at their own pace , &1 3R Frerd =3 F FRO A
(4) helps teacher to assess students’ . | v &
performance in Mathematics (4) Tgw g fqenfiE % e gesla &=
60. Writing proofs in geometry implies g w A 8
(1) steps of drawing a figure 60. artafa ® 3Iugfy feran d%d wear R
(2) two-column table of axioms and (1) fereht AT 6 A & 98 A
deductions o () f-wfm TR B, Rl s e
(3) argument or justification of e 3
statements
(4) description of a geometrical (3) o % 7% shfere
problem (4) sl we & auiq )
SPACE FOR ROUGH WORK / % &M % fau s
P-1I/M 16


http://upscfever.com

61. Somia usually takes her Class VII

trip. Which of the
he objective(s)?

o "

:: o Riovif rete experiences to

B. :;13 can give them assignments
assessm}:;rr?_g.ects for formative

C. It enhances process skills of
students,

D. It saves her teaching time.

(1) B and C

(2) A, B and C

(3) Only A

(4) Only D

62. Which one of the following assessment
strategies is most appropriate to assess
the experimental skills of students in a
science classroom?
(1) Paper-pencil test
(2) Practical record
(3) Checklist

(4) Concept mapping

63. “Open a water tap. Adjust the flow so
that it forms a thin stream. Charge a
refill. Bring it near the water stream.
Observe what happens. Write a short
report on the activity.”
The skills) developed in the
students through this activity is/are

(1)
(2)

experimentation only

observation, experimentation and
communication

observation, experimentation and
creativity

observation only

(3)

(4)

61. WA SF TR VI % Frafi =

-9 R A S
R ghal R /wwa 87 ¥ e s e

A. =& Tt 1 3w sme wew w2y

B, ¥ 3% [ W Ao R H-FE e
ITehe F faw R wdl R

C. @& faanfidi % wrao =weh
A R : =1 e

D. ¥ 36 s g9 ) s=m R
(1) B3R C

(2) A, B3R C

(3) %A A

(4) Fa@ D

62. fr=fifad swem ghedt # ¥ FH-H® I
o wan O feePiE f ufe S R
Tehferd & o fore et anferes 3fea 27

(1) wre-afet e

(2) T Al

(3) SHa-HER (Ihferee)

(4) AFERON it

“qrt F T 1 Wil 38 Tae R % T
TR fif) fred fiftee A1 smafta Hif)

W o i a ¥ freee e Yem AR
7 21 B 38 ity R afw fed faRa)”

wnﬁ%ﬁ%m‘&mﬁﬁmﬁﬁﬁﬁmﬁm
wive /%

(1) FIA AT H

(2) ST, S A AT G
(3) T, TN FHA| AT FoHIHRN
(4) el ST

63.

SPACE FOR ROUGH WORK / T Fd & fau e
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statement about

V<) iiiC LILCLIIUUUIURY of science and
its demarcation from other fields
continue to be a matter of
philosophical debate.

Even the most established and
universal laws of science are
always regarded as provisional,
subject to modification in the light
of new observations, experiments
and analyses.

(2)

Speculation and conjecture also
have a place in science, but
ultimately a scientific theory, to
be acceptable, must be verified
by relevant observations and/or
experiments.

3)

Science is considered as value-
neutral and objective, and the laws
of science are viewed as fixed.

(4)

65. Which of the following strategies are

most appropriate for a teacher to teach
the topic ‘Save Energy’?

Ask students to write slogans on

A.
saving energy

B. Write at least five ways to save
energy

C. Make a model/project to depict
energy saving

D. Encourage students to save energy
in various ways in their lives

(1) B, Cand D

(2) A, Band C

(3) A, Band D

(4) A, C and D

65.

sip @ a9 " IEE
ferm mm_ﬁaﬁwﬁwm%

et oA
@) B e, i i Far

e 21

(1)

ﬁamaﬁﬁaﬂafﬂa@ﬁg
) o fm %

SR

3 - g R ¥ forg wed It 87

A Frefid | s g W R faer % fae
FEAl

B. ol wem % R FA-A-H0 di= qls
AECEl

C. = www weRld w3 % fag g/
QfESET SA

D. frenffdl 1 o Sfe § fafim alet @
Fell & o forg ety s

(1) B, C 3R D
(2) A, B3R C
(3) A,B3RD

(4) A, C3RD

SPACE FOR ROUGH WORK / T &M % fiq g
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\Q/ in our solar
of revolution
than those of
»ds of rotation
are more as compared to those of the
earth. These planets are

" P
 Sas (f10
' |

s

P
AR e ST
e sua

(1) Mercury and Venus

(2) Uranus and Neptune
(3) Mars and Jupiter

(4) Mercury and Saturn

67. The melting points (in °C) of Sulphur (S),

Aluminium (Al) and Iron (Fe) are 113,
666 and 1535 respectively. Which one
-of the following is correct?

(1) Fe, S and Al are solids at 200 °C
(2) Only S is solid at 200 °C

(3) Only Fe is solid at 200 °C

(4) Al and Fe are solids at 200 °C

66. T ¥R fER ¥ W A mk ¥, e @ F 9w

Tﬁ%ﬁm%a@%lauﬁ%m%
(1) 99 3R =
(2) BT M T
(3) ¥ iR gewfa
(4) 9u 3R ol
67. TR (S), FepHtEm (Al 3 A (Fe) ¥
e (°C ®) HAN: 113, 666 a1 1535 B
frafafia # @ ¥9-m & W& ¥?
(1) Fe, S @ Al 200 °C AT9HH T 34 &

(2) ¥a€ S 200 °C YA W 34 ?

(3) F9@ Fe 200 °C UHH | 3 ¥

68. An electric circuit is set up in such
a way that the positive terminal of a (4) Al @ Fe 200 °C dq9q™ R®IE B
battery V is connected to a bulb B,
which is connected to a resistor R
which is connected to bulb B,. B, is 68. T ﬁ'ﬂﬂqﬁqﬂl =9 WHR < T 2 B ARV
finally connected to the negative of
terminal of the battery. Both the bulbs ol ﬁl e A g_a 51%a I B m
are glowing. If the value of R is B, ¥ T WiRIuF R} 991 81 I¥: B, S
increased, then F FUTCHS I A &1 21 I Tea QA
. 2| 3R R %1 9H wg1 fem Wy, @
(1) both B; and B, will become
i ter (1) B, 3% B, 3 1 4f =9 2 e
(2) B, will become dimmer but
brightness of B, will remain 2) B, # At =1 | Jwh AR B, N AW 3§
unchanged ¢ yfad T ST
(3) B, will become dimmer but
brightness of B; will remain (3) B, 9 &t %0 B wh ofw B, A AW A
unchanged Hﬁ% giE JE AT
4) both B, and B, will remain
() unchangled 2 (4) B, 3R B, 3 aiafda W
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69. R \Q/nt;s and select
e t qQntign.
:: Ptafetnd e I3
T 1 thermometer

15 Irom 35 °C to 42 °C.
Statement B :
The range of laboratory thermometer
is usually from 10 °C to 110 °C.
Statement B s correct but
Statement A is false
Both Statement A and Statement B
are correct
Both Statement A and Statement B
are false
Statement A s
Statement B is false

(1)
(2)
(3)

(4) correct but

70. Which one of the following places in
India is most likely to be affected by
cyclones?

(1) Puri

(2) Amritsar

(3) Udaipur

(4) Badrinath

71. The air near a heat source gets hot and
rises. The air from the sides comes in
to take its place. This is the way in
which the air gets heated by oil
heaters. What is this process called?
(1) Diffusion
(2) Conduction
(3) Convection
(4) Radiation

72. A book is lying at rest on the surface
of a table. Which one of the following
statements is true about the force(s)
acting on it?

(1) Only frictional force is acting on it.

(2) There is no force acting on it.

(3) There is a pair of balanced forces
acting on it.

(4) Only gravitational force is
on it.

acting

69. fu mu Fert A afgv qun @@ femea #:1 g -
HUq A
gl oA (gEidter) #1 afeE 35 °C
@ 42 °C ®I
HUA B :

Wwﬁt (emfsfiet) 1 IR ow:
10 °C @ 110 °C & 2|

(1) Hu= Bgﬁﬁ%ﬁﬁiﬁmAW%
(2) FUF A 9o FU B aH wE &
(3) 9 A a1 F49 B A1 Td &
(4) mmAHﬁ%ﬁ!ﬁEﬁWBW%

7o.w%ﬁw%f@awﬁﬁ%ﬁa-m_w
=ThaTdl o wed stk waifem dm?

(1) 38

(2) srgaE
(3) AR
(4) =

71. T S0 % G % gy T | S R 991 IW
I3 ST 8| EG1 UTRET QTR TEHT TWH o o)
21 i TR T A @l @ R A R aw
F-H wikan 87
(1) form
(2) w=TeH
(3) "a&A
(4) fafero

72. TF TE0 W & 99 W fam o Rl § v
mel%aa/vﬁﬁaaaﬁﬁﬁn%ﬁaaﬁ%
HF-H1 T HU4 geg 27
(1) 8 R baa wdvr s/t % 3 @ 2
(2) R HE 7@ w1 T8 = @)
(3)w;é§%aaﬁwwmmm

@I 2|

(4) mmmqﬁﬁﬁmwwﬁmm%\
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\Q/ents and select

a1

\\

O st ih ofn et §

r =

1o &

1 from heavier
==SSS Ol graun by winnowing.
Statement B :
Diffe.rence in the size of particles in
& mixture is utilized to separate
them by the process of sieving and
filtration.

Both Statement A and Statement B
are true

Statement A is true and Statement
B is false

Statement B is true and Statement
A is false

Both Statement A and Statement B

are false

74. The pressure in a fluid that is at rest
(1) acts in all directions
(2) acts only in vertical direction
(3) acts only in downward direction
(4) acts only sideways

75. Which of the following statements are
true about image formation in a plane
mirror?
A. The image is larger in size than the

object.
The image is formed at the same

distance as the object.
The image is laterally inverted.
The image is virtual.
A B, Cand D
(2) A, Band C
(3) B, C and D
(4) A, Cand D
76. All of the following are single-celled,
except
(1) hen’s egg
(2) zygote
(3) embryo

(1)
(2)
(3)

4

B.

C.
D

(1)

73. ﬁmmmﬁﬁwﬁmamaﬁﬁmaﬁgﬁm {
wUA A

W SR d et g srem e
S R\

%A B :
faftm oPr % =+ * fem | 9w 5
T g 0 eem fean sman )

(1) H°F A G U B S A ®

(2) o A HA ? A FOA B WA R

(3) U B U™ & AU FHAA A HEA »

(4) FUA A T FF B A WA R

fér atgeen # @

(1) |sfi fremedt § <ema st @

(2) o weeeq fem o <= S
(3) Faw A= e § @@ @ R
(4) Faw T A AR T Trer @

75. T TAAE 9 W W S % gEw o

frafaRad § ¥ F9-2 %99 94 77

A. gﬁﬁawmm%m%mﬁm
|

B. whifss awg =R g0 % wam gl W s R

C. vt Tred wfoeiifia g B

D. fifem snwrf g )

(1) A, B, C#RD

(2) A, B3R C

(3) B, C3R D

4) A, C3RD

76. Trfafan @ wReE §, Ramw
(1) ofl = 3Fet
(2) TH [T

(3) q
(4) YehfRem

74.

(4) paramecium
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mples from daily
ypriate option :
iled, it produces

asalil.

B. A slice of apple acquires brown
colour when kept out for some time.

When an ant bites, calamine is
used to ease the irritation on skin.

(1) All are chemical changes

(2) A and B represent chemical changes
(3) B is a physical change

(4) A and B are physical changes

C.

78. A student burns a magnesium ribbon

in air and dissolves the ash of the
ribbon left after burning in distilled
water. On pouring one drop each of
this solution, first in blue litmus and
then in red litmus solution, he would
observe that

(1) blue litmus turns colourless,
whereas the red litmus remains red

(2) blue litmus remains blue, whereas
the red litmus turns blue

(3) blue litmus turns red, whereas the
red litmus remains red

(4) blue litmus turns red, whereas the
red litmus turns blue

79. “Copper cannot displace zinc from its

salt solution. Give the reason.”

The following reasons are given by
Class VIII students :

77.

78.

79.

8 e ¥ freRa IaTew wfey qu g

A. mwﬁaiw@m%,ﬁ“@“w

|

B ﬁﬁ%@mﬁwww%mw

: @W%,ﬁag'{ﬂﬁm%l

C. <A % FEY A I el AR T F

(1) T+ Tamfs TfEd

(2) A en B TR dfEd e F @

(3) B e aad

(4) ATen B ¥ R & .
B Afifrm fEm @ Ay § 3E w

ﬁwgwﬁwﬁﬁm'a““

T 31 36 fe A T 48 w0 T A

frerg o fi oa foreng W SeR W 98 98

Stegor =M 6

(1) Hren frewa TR & ST R, WElh A
forema o € @@ @

(2) Hren forema Hren @ wa &, FaFF A
fotema e € s &

(3) Hren foreme @@ @ S R,
foreng o @ ww R

(4) fen remm @ @ S g,
o e & S 2

aten, T B IEF WE F U ¥ AT T
H HqHAT B FRO AR’

41 VI % feenfdgi g frefafag s R
RI LU

EEIE IS
SEfE A

A. Copper is more reactive than zinc. A. dfen, 9@ ¥ st iR 2
B. Copper is less reactive than zinc. B. dlel, 9@ § #H SR 2
C. Zinc is one of the noble metals.‘ C. e e tr@a:ﬁ I 2
D. Zinc appears below copper in D. s s e, A1 B A A 2y
reactivity series. : N 3G ’ 3
Select the correct reason(s) from the T VI % Rrenffa gm Ry o wwoit
reasons given by Class VIII students. | T HWO/HR0T gl
(1) Only B (1) e B
(2) Aand D (2) AR D
(3) Only A (3) I A
(4) Cand D (4) C¥RD
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5 maol et ¥ Al el 4 g a group of | 80. fr=fifas & @ Same (3Afen) T e
fdiseAsss Wakes eria. qre Wt g g
~ Typhoid tmonia  and (1) waﬁﬁfs( (zgFegenta 5 ), FgFn i frrd
@ Ghikenoos iersa nd pto | ) 3, gen e
: ’ SO T, difear qaR (TARES)
(4) Chlckenpog, Meningitis and Ei; A T, At (aﬁ‘ﬁﬁiﬁg) T4
Tuberculosis 4 ( )
ﬂlﬂ%’«ﬁ Zga(@(:i iiqa
81. Consider the following Column—A and _ ) ok TRI—E ot B
Column—B in which the names 81. 4 feu m W'ﬂ-——‘A B = fu
of micro-organisms are given in A Fei we—A # gEsEl % T €T
Column—A and the groups to which % qo TE—B § 3 @l % A R R e
they belong are given in Column—B : 3 geafva 2 -
Column—A Column—B TH—A wi—B
(@) Aspergillus (i) Algae (@) YefeE (1) MG
(b) Lactobacillus (i) Bacteria (b) SrafaeE () SfETg
(c) Paramecium (iii) Fungi (c) trfifiEm (iii) IS
(d) Spirogyra (iv) Protozoa (d) FAFATEA (iv) TSI
(v) Virus (v) ey
The correct match of the items of T —A F Tel & &EH—B # Hal % W™
Column—A with that of Column—B is o firem 2
m a booe d M a b c d
S B v v
2 a b ¢ d @ a b c d
ioog w1 i ivo i
3 a b ¢ d @ a b ¢ d
1ii ii iv 1 iii i iv 1
4 a b c d 4 a b ¢ d
v iii ii iv v iii ii iv
82. Which of the following statements are 82. fr=ffaa § & FH-8 FHIA AW =t aF |
true about veins in human circulatory e T ﬁqq’ﬁ pe 1 - X4 . 5
system? o , A. @ft ﬁﬂl‘iw grRATERS -5 TP
A. All veins carry carbon dioxide-rich g N B -
blood. B. Rwalt i < wael l
B. Veins have thin walls. _ C. Rl o @ fabE I W geE AR A
C. Veins carry blood from different o 3|
organs to heart. (1) A, B #RC
(1) A, Band C (2)A3?RB
(2)Aangg (3)B3ﬁIC
(3 B an 4 AdC
(4) A and C (%)
SPACE FOR ROUGH WORK / T® ¥ & g e
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T \Q/ substances 83. AJSI-gd @g-gd (Fg) 96 F Ao

. 3 W ST
o Ll cof Irbubisdey @ considered an ITER & ATavash T9d . 2
- Lotidf cdmpd a balanced diet T g HH-G1 Th FAA ﬁﬂ?ﬁ? ¥ o wé R
of hum 2 ch one of the ¢
following is the correct statement about (1) Qﬂﬁ'ﬁi STEHI @ BR-BI2 m i %
cellulose? S R, S wAW F € EIRELCAIEE
ik

(1) Cellulose breaks down easily into

smaller components which are safer S-UTeR S,
egested as roughages. (2) ;?” . ﬁaﬁ' i & Wﬂﬁ’;{ 7B

(2) The cellulose-digesting bacteria

present in human beings convert (3) HEd | @@Fﬁ’ﬂ-qﬁ% TrsiigH & 'Eﬁ%“
cellulose into fibres. <t

(3) Human beings do not have (4) a’ﬁ@ﬁ@ TR 1 Wﬁaﬁ_ﬁ'@ 3, %ll“ d
cellulose-digesting enzymes. TR T STaefid B el JeH H

(4) Cellulose is a type of carbohydrate,
which gets absorbed in the human 84. R 3l Sult TR F == 1 SIS Th I R

blood and gives energy. .
(1) Fg fgen wfr (aTa U3 Wike SE)
84. The joint between head and upper jaw . .
is an example of (2) fe= =ty (& Sfige)
(1) ball and socket joint (3) = @fy (e Sige) =

(2)+ hinged joint _ ..
(3) pelvic joint (4) = @ty (s Sfisz)

(4) fixed joint
85. U FYA/FH F) TEETT, :

. ify th : ‘
85. Identify the correct statement(s) A el RPMIMIY SHN g o
A. The freshwater stored in ground is el o faemm Sia @ %. R
less than that present in the rivers :
and lakes of the world. B. S il % Rkl 3, S
B. Water shortage is a problem faced e T A FW@ R
by people only in rurr.:d areas. C. ¥ i e ¥ R TR = S W
C. Water from rivers is the only a4 2

source for irrigation in the fields.

D. Rain is the ultimate source of D. & %1 Heivyd |id aui & |
water, ) %59 D

(1) Only D

(2) A and C (2) A%t C

(3) A and B (3) A B

(4) A, B and C (4) A, B3 C
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87.

R

ke £ ‘;'—r'_r” ence should
fcud o

(1) the understanding of concepts and

(2) precise definitions and

(3) getting accurate results

pProcesses

correct
answers

_ while
conducting the experiments

(4) the ability to make neat and clear

diagrams

Which of the following make(s) good
open-ended question(s)?

A.

(1)
(2)
(3)

(4)

What difficulties would we face

if our bodies did not have muscles
in it?

What is the difference between the

stem of a rose plant, mango tree
and tulsi?

Snake and snail have very different
styles of movement. Why is it so?

. Observe various roots and write

their features.
A and C

B and D
Only A

Only C

86. fagm & aAre B T I AT
(1) sEurons siR e ) ' wW
(2) i gfommel sft @@ ST W
3) mm@g@maﬁmm

(4) AT 3R TE M@ 9 H TEA |

87, Prefiffan # & qw W /TR R
gETHT |

A, TR gER Wi § w1 6, @ W@
guEnat F g w1 e

B. 1™ % i, 3 ¥ ¥g ofn g F A 3
HT AR 87

C. @i i o = ir-deht § wga R T
) g A= R?

D. fafim vt &1 sEdE fifve IR TR
ferdroramd. feafa)

(1) AR C
(2) B 3D
(3) Had A

(4) %aa C

P-II/M
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lich appears in
»ook :

-~ USPPECAIS Gine suk. It is strong and
flexible. These endearing qualities of
nylon created a public sensation, or
pylon mania, when it was introduced
In 1939, Women’s stockings made from
this new fibre were in great demand.
But, unfortunately, most of the nylon
pProductions had to be diverted to
making parachutes during the Second
World War (1939-1945). After the War,
when production of stockings resumed,
supply did not match the demand.
There was a huge black market for this
Product. Women had to wait for hours
N queues to get a pair. Often there
were ‘nylon riots’.

What are the significances of
including the above in a science
textbook?

A To de\_'elop a historical perspective
In science and development of
ideas

B. To develop an appreciation of
how new inventions create new
demands

C. To develop a holistic understanding
of science

D. Including such anecdotes makes
science textbook light and easy

(1) A, Band C
(2) Only A and C
(3) Only B and C

(4) Only A and D

88. Fam VIII H TWe Hro '§o ARo o H

yr-geas # @ Ry o frefafaa sig=st #

i e e a2 9 yae I e
B’rmw%laa 1939ﬁmmm,_ﬁ$§

. A Sa1 § gt e Age-
E;ﬂﬁmnwm%ﬁﬁaﬁuﬁmaﬁ%ﬁ
H wh i of vig geim @ RdE s
(1939-1945) % =ad TIgAMA  Iedqred  H
i wm oo w3 ¥g FW A fen ww
M| g F §&, @ HISA F IeAEA g YRA
gen @ "t % rgEn qfd T ® wh | 58 Sedrs
¥ Rre wh Wil I TR 1| TF e A
T nfwensti # F5 "9 ogd § @ ggdan o)
FE GR AEe Iuxd o A I A

& urew-gs @ Iugw W i
T ) T qrefeRar 27

A fam 4 Mefos o = oo w@
et o1 ferepre &

B. 48 999 fawfya #=x1 f% v enfawsr frg
W TS | I T B

C. fogm 6 gwu gwg #1 fasm &

D. W H1-guidl B Whe w0 ¥ fge 6
TS -YEd A N W w9

(1) A, B2fRC
(2) ¥ A 3R C
(3) %@ B 3R C

(4) %37 A 3R D
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a0 Sometimes tha

students have
ern \Q/related to
o flou gy 1«:'-—|J_I_U Vhat should
o€ Iehicq fefichef
(1) scold” the students for having
non-scientific ideas

(2) Tell the students that their ideas

are ‘wrong’ and teach them the
correct concept

(3)

Ignore their ideas

4)

Help the students revisit their ideas
through various activities

90. Wh.ich of the following statements
indicate(s) a good science classroom?

A. The _learners devise their own
experiments and record their
observations.

B. The learners observe the

demonstration by the teacher and
write its steps.

C. The learners are, free to ask many
questions.

D. The teacher, along with the
textbook, uses multiple resources
to teach.

(1) A, C and D
(2) A and C
(3) Only B

(4) B and D

sl Fnafidl w1 famm dedl sTaumonaR
- 3‘%§m aravTon B 2\ P e B
I AT =TT, ¢

(1) s faemd 3 form, T = =i

(2) Foenfie = =and 6 3 fa=m ‘“Td’ ®

(3) =% Feraml i e

i wfafafirt 3 momm | s R ®

W) e @ & P A 7

0. Frafafiaa ot # ¥ -7/} T = Fam
2 F4T ) I HHA FO &/FW 87

A, fofl T s En w@ R e S
s 1 e R ,

off, R g R o FegH e w®
5 %g%aﬁlmﬁa@ﬁm

2\
C. Ruenefl o T T T T R

D. e fe % g Trew - % Wu-w
fyfer HameAl o1 IR FA R

(1) A, C3RD
@) A3fRC
(3) ¥a@ B

(4) B3R D
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k4

P05 A
-

es have to do

‘her from Part—II

ethemaEnT > aia saence) Or from Part—III
| (Social Studies/Social Science).

o NWs Qs

iqﬁaﬁfa’iaﬁma" 31@{902“%

ST—I1 (fora ofe frgr) 1 — I (R v
[t fm) @ A #)

PART—III / w/—III
SOCIAL STUDIES/SOCIAL SCIENCE | R stemEA /AT SR

Directions
by selecting
Options.

Answer the foilowing questions
the correct/most appropriate

31. Why is the study of Social Science

‘scientific’?

(1) 1t comprises systematically
acquired verified knowledge.

(2) It helps its reader to study the
scientific society.

(3) It uses scientific terms in its
content.

(4) It fulfills the demand for calling

Social Studies as science.

32. You have to depict the proportion
of time a rural worker spends
as employed, underemployed and
unemployed in a year. Which one of the
following diagrammatic representations
would you select?

(1) Bar diagram

(2) Pie diagram

(3) Time-line diagram
(4) Flow diagram

33. Select the most appropriate reason for
assessing students through art

P - Preafefim it % w0 23 % o vt/
Iugw foen g

31. Wiy Rgm #1 SwEA At =6 87
(1) 3% T=mia e als @ TEIE IH

1Rl f3n <t 2|

(2) TR UISH ) GEIS & SFIH ST FA |
FEA L B

(3) 3R frvmasg # Amife WA H
T R

(4) g G e W fage wed f A
! QU Ha R

32. 3 wF ad § fRIfE, swehERE s

FfEfE aefin sfie g e T T

g Tafa = awe #) FefaRaa § @
MY HH-Y ARG Fmw = /e

(1) 38 3m™

(2) =% M@

(3) ¥a-t@n @
(4) YaTE M@

in | 33, il w1 wmfvs fgm fwm ¥ wa ¥
Social Science subjects. 1115 R Do T R g S .,
(1) It is a means to enjoy different i
styles of expression depicted in the (1) ¥& wTe-g&h 7§ e M fafim srfirsaf
textbook. AT F e o = mem Ry
(2) It improves students’ artistic (2) we Fenfat A feewren 6 dva J Jur
(3) It makfes it an enjoyable way of (3) T T T - 3,
evaluation. AFTH YT 61 Al
(4) It provides an opportunity for (4) T® IQURMI w1 ™ =AfE TR
personal interpretation of concepts. FA H ST TS FAT B
P-1I/M 28
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'/1g projects on

Yy YR ey e on s
econ
f i dary

warming

i*
-

s on global

(2) Interviews with elders living in an
area on changes in weather

(3) A graphical representation of
unanalyzed weather data collected
from meteorological office

(4) A discussion based on the weather
changes mentioned in a book

35. A teacher provides some criteria to
stufients and asks them to assess their
projects on those bases. Which one of
the following assessment measures has
been adopted by the teacher?

(1) Formative assessment
(2) Peer assessment
(3) Self-assessment
(4) Summative assessment
36. What is the nomenclature change

suggested by the National Curriculum
Framework (NCF), 2005 for Civics?

(1) Geography
(2) History
(3) Social and Political Life
(4) Economics
37. Which value will you emphasize the

least in the upper primary Social
Science classroom from among the

following?
(1) Cooperation
(2) Competitiveness
(3) Scientific approach
(4) Equality

38. What is the purpose of summative
assessment of students?
(1) Assessing at the end of term

(2) Assessing during the class

(3) Assessing a project
(4) Assessing at the end of a lesson

P-II/M
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35. wh e i

B?
(1) ywved g | R 6 Hes =
(2) T A # e T A iR & dew 8 A

et gfiEadHl W HIETEhR
¥ sfrafiq stesl W enuia sl
forequr

(4) T e A Sfgfiam e gL aREE W
i ==

# 3B AFds 0 § 3R
ﬁ%%%ﬁmmmmmmﬂ

srem ) Frefafaa § @ PR-R e &
6 1 S e g TR T Re

(1) TEATCHS AT
(2) wHeafl el

(3) T-ATRTH

(4) TSI AT

36. Grfch-TmE 1 AwEEh § g e
w7 (To Ho Tho), 2005  F&wE Hl 1

gaa fem &7

(1) ¥
(2) 3fae™
(3) w3 Tewhifaes S

(4) e

37.ﬁm%1@aﬁ%ﬁmuﬁmwmwﬁ$
frgm ¥ wa-wa § g B T W AR T
ad et
(1) w&dm
(2) wieEfrareseRa
(3) AT g

(4) W |
38. fenRel % eI ST H 3exd 1 7

(1) G % WHTH B T ATHEH

(2) & % IRH HTheH

(3) UTISHI 1 3TTReH

(4) WIS % I H ATheH

[ P.T.O.


http://upscfever.com

39. su to teach the
' gacy he Cold \Q/-t—Ladakh’ in

; s 01 st the following
netheds Wotket B appropriate?

(1) Workshop method
(2) Survey method

(3) Case study method
(4) Regional method

40. Which one of the following methods
Is most relevant for the teaching of
historical facts/historiography at the
upper primary level?

(1) Map method
(2) Project method
(3) Problem-solving method

(4) Source method

41. The National Curriculum Framework
(NCF), 2005 recommends that
children’s school education must be
linked with

(1) the annual examinations
(2) the outside school environment
(3) the mainstream opinions

(4) the conditions of the
infrastructure

school

42. On which of the following choices is
the data best represented by a bar

diagram?

(1) Air pressure
(2) Temperature
(3) Rainfall

(4) Humidity

43. In order to develop an understanding
of democratic institutions, choose the
most appropriate curricular approach
from the following.

(1) Provide examples of realities along
with ideal situation

(2) Describe ideal situations

(3) Provide mainly national level
examples
(4) Introduce students to harsh
realities
P-1I/M 55

ovaliicu vy valliovaliici

" 2005 F TR ® BHH“ =i H
St ol § @ Bras ary g e’

(1) =i adian
(2) T % = S
(3) FEuw F fear
(4) Toamem # suReE 9
42, fafafaa § @ fra fawen +1 gvg M@ @
el =8 alF | qw S wHAT 27
(1) arge=
(2) q9EH
(3) =i
(4) e

43, drwaite wenell f wHg ) TERe F0
o Fefefed & @ wa@ R weumy et

9P i G|

(1) arafes et & @ smed Rl ¥
SRTEWN 1 e Al

(2) et feyfemt =t awian

(3) T ¥ A gkl e N R HA

(4) R 1 PR TR R Y
gt &t
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{ I \g;he following

; st Sl Y § tician and
orronter, rye irote his book,

ATyabhanganm?
(1) Prakrit

(2) Hindi

(3) Pali

(4) Sanskrit

45. Which one of the following Stupas is
marked as the place where the Buddha
preached his first message?

(1) Bodh Gaya
(2) Sarnath
(3) Sanchi

(4) Thotlakonda

46. Which were the three dynasties
referred to as ‘Muvendar’ in Sangam
poems?

(1) The Cheras, the Palas and the
Rashtrakutas

(2) The Cholas, the Rashtrakutas and
the Pandyas

(3) The Palas, the Cholas and the
Pandyas

(4) The Cholas, the Cheras and the
Pandyas

47. The Rampurwa bull, a polished stone
sculpture, now placed in Rashtrapati
Bhawan, was built during the reign of
which one of the following?

(1) The Pandyas
(2) The Mauryas
(3) The Cholas

44. TET du @euE] SAEswe 3 ey
T g FrefaRan et A8 fead
foredt A7
(1) Wrehd
(2) T
(3) urefl
(4) &5

45. Frafafad el § ¥ fra oF A 39 ©E F w9
3 fafia fFn T 2, <=l g8 ¥ TEel AR IRW
R a?

(1) e
(2) ARA
(3) ==
(4) eheATRET
46. T el § B R TeEEm w PEE
el T RY
(1) =R, et TERe
(2) =, TERE, WS
(3) U, =, 9IS
(4) =, =R, 9
47, TageE B firen IcFE difem a9 TR WS
dfe, R 3@ Tgoly woa B W@ T R, T R
forEeh TR § SR TR e
(1) dr==
(2) W
(3) =hw

(4) The Kushanas
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48. Who among the following propounded
the doctrine of ‘Vishishtadvaita’?

- 2\ /L
- | vAn|

49. An archive is a place where

(1) remains of the buildings made of
stone and  bricks found by
archaeologists are kept

(2) sculptures found in excavations are
kept

(3) historical manuscripts
documents are kept

(4) excavated bones of animals and
birds are kept

and

50. Which one of the following statements
is correct about the Veerashaiva
Movement initiated during the
mid-twelfth century in Karnataka?

(1) It argued against Brahmanical
ideas about caste and treatment of
women.

(2) It was initiated by Namdev and his
companions.

(3) It focused on worship of Vitthala.

(4) It was against all forms of ritualism
but promoted idol worship.

51. Consider the following two statements
A and B about ‘Bandagan’ in the early
Delhi Sultanate and choose the correct
answer :

A. ‘Bandagan’ were special slaves
purchased for military service and
were trained with great care to hold
the most important political offices
in the kingdom.

B. ‘Bandagan’ were totally dependent
upon their masters. So the Sultans
could not trust and rely upon
them.

(1) A is true and B is false
(2) A is false and B is true
(3) Both A and B are true
(4) Both A and B are false

P-II/M
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48. ‘W’%Wqﬁgﬁﬁwmﬁ

sega fepert?

(1) ga 94

(2)

(3) TEI

(4) el

. sftrargm a8 wE &, 5@ .
” (1) Wmmmmtﬁm?ﬁa

=+ gt % SR P T S

, e ¥ Tva e # e g A
% m%éaﬁﬁﬁm%ﬁaam@ﬁ%w—m
w w8 =7
(1) T iR o A ¥ i EER F W
ST fremem % fre @ )
() T wRa s T ARE T g
™I
(3) 3o forzw A o0 W W T
(4) 7= Th TR F Fiws F AU A, T
Hfgst i FerEn fe

51. R 9 omfiE woad & gmd § S % SR
# frefirfag @ w1 A 3k B w fmr Hifsg
T &) I H1 TG HIT
A ‘T fRw Em 3, &R s dW F

for @l s o e 3% TS % Wga @
TR ToHIas Tal | EH w6 T
¥ gragH ¥ vifia R s e

B. ‘W g e oty Wi W R 2R 3,

Tafee geam A W fovaw T8 W T 9
AR T A W ol A wwa A

(1) A9 3R B 7w @
(2) ATdA § 3R B ¥ R
(3) A 3R B3N wd ¥

(4) A 3R B 3 e ©
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52. Who amono +h_. « ..
B sailorg sailed

Foe=yo i \tl.antic Ocean

f
f

¥ T
(<) vasco dg Gamg
(3) Christopher Columbysg

(4) Fa Xian

(1) The Kushanag
(2) The Cholas
(3) The Cheras
(4) The Pandyas

54. The Revolt of Son
gram San i
took place because gma in 1906

(1) the peasants in

Champaran
revolted against the ind .

igo planters

(2) the Muslim traders in Bengal rose

against the unequal terms of trade
set by the British

(3) the Patidar peasants of Gujarat
rebelled against the high land
revenue demand of the British

(4) the tribal groups in Assam reacted
against the colonial forest laws

55. The Simon Commission, sent by the
British to India in 1927, was opposed
because

(1) it had only English educated Indian
representatives

(2) it had no Indian representative on
it

(3) it had very few Indian represen-
tatives as compared to the British

Indian woman

(4) it had no
representative
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52. = et & ¥ fray wwa = TEN T ¥
W@ﬁﬁww?ﬁﬁﬁam
= IR

(1) = sm

(2) TR 2 T
(3) T Hrer=m
(4) = ==

53. Fafafaa qeEe § ¥ FaY o sifeE! §
TgTe o e Ty g e fen?

(1) FH=mor
(2) =
(3) =

(4) drsA

54. 1906 T gT ¥um €T F fkr = Hwwm o

(1) e & arA-mfert & faeg = mo &
foram A foslie foremn

2) st T Fuffm =ar R
S (Yewd) wat % feg wmw ¥ gfem
A} & 38 ST Bl

(3) o W UER THEml @ BN g 9N
T 9 o % Raems ke

4) Ew B omfcarll wEl 3w TR T
Mafafie a1 FHl ol

55, fsfew ¥R 4 €9 1927 H WRa #§ Ao e
¥ o wHEE O, e R TR mn,
Hifeh

(1) 390 Faa N ve-for@ st wiatiem
! e feman T o

(2) 39 TR H FE TR wiaff T o

(S)s'asm‘mﬁaiﬁﬁmmml
ylaffert i g 7 % ster R

(4) e S oft s ke it @ R

[ P.T.O.



http://upscfever.com

- FATET
g6 UareVitlsoldowr ss.ﬁqﬁ-ﬁ%ﬂﬁﬁ—’ﬁ%
o FuE
Movement/ Reformer igrer [HTSA 5 ;
Organization ) el @ wmh R
(@) Brahmo Samaj (i) Swami Vivekananda (b) 7 A (i) &R AEH @ .
(b) Young Bengal (i) Sayyid Ahmad Khan (iii) & -@égﬁﬁl'ﬂ i
Movement (c) g feEn ¥ya 98 ¥
() Ramakrishna (d) g SR i =

(iii) Henry Louis Vivian
Mission Derozio d

(d) Aligarh Movement (iv) Keshab Chandra
Sen
(1) a b c d
i iv iii ii
(2 a b c d
iv iii i i

iv iii
@ a b ¢ d
1ii il v 1

d

B a b ¢ d 4 a b ¢ =

s X s 1 i v 11

i ii iv i
4 . refafaEd
M s B =8 4 57. Tge mdEE Aa TE A

ii i iv il rsﬁﬁﬁ%ﬁ%m%mml(gSQﬁ‘@

S57. Veteran  Gandhian leader  Potti g5 W A7

Sriramulu went on hunger strike in e
1952, demanding the formation of (1)

which of the following States? (2) dfrerTg
(1) Telangana (3) ¥

(2) Tamil Nadu .
(3) Kerala ] S

(4) Andhra Pradesh 58. FEEA-U-JI7 Aiq @l uni gﬁm‘:ﬁ TE F

58. Who among the following was femaet 70 @ = A7
an exponent of the notion of 1) = qEE
Wahdat-i-deen that upholds the (1)
essential oneness of all religions? (2) g et TS

(2) Muhammad Ali Jinnah
(3) Maulana Azad
(4) Sayyid Ahmad Khan

(4) A== e Gl

59. W & T HET W A Do oA a1 W@

59. The main latitude that passes almost SHE R

halfway through India is (1) e T
(1) the Arctic Circle

2 %
(2) the Equator &) R A“agaqa“)
(3) the Tropic of Capricarn (3) THRE (W)
(4) the Tropic of Cancer (4) FHT@ (FH-99)
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\Q/ng defines

- i 1
cdl LIS R T ST

B e e e

v days and

the carth

(2) The motion of the earth around the
sun in its orbit

(3) The distances  between the
longitudes

(4] The period of one rotation of the
earth around its axis

61. Match the following :

Types of Vegetation Species of
Plants
(@) Tropical rain forest (1) Sundari

(b) Tropical deciduous forest
(¢} Thorny bushes

(d) Mangrove forest

62.

63.

P-II/M

(1) Babool
(1) Mahogany

(iv) Sal

(1) a b c d

iv il i il
(2 a b c d
ui v il i
3) a b c d
i i i v
4) a b c d
i 1 iv i

’

India’s research stations named ‘Maitri
and ‘Dakshin Gangotri’ are located in
which one of the following continents?
(1) Europe

(2) Australia

(3) Africa

(4) Antarctica

Consider the following two statements

A and B about ocean currents and
choose the correct answer :

A. The warm ocean currents originate
near the Equator and move
towards the Poles.

B. The cold ocean currents carry
water from lower latitudes to higher

latitudes.
(1) Both A and B are false
(2) A is true and B is false
(3) Both A and B are true
(4) A is false and B is true
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60.

61.

62.

63.

[afertre A ad- ) el R’ 0 afonen R
(1) 22 R mq gedh we faar afe o ana
A &

gedl ) nfy o gl ard e a0
el R

(3) derad & wear ) ghad |
(4) el WA A HL Uk A (TR

SOIRIER

frifRiftaa & gl A @go

(2)

Teafd ¥ W dhut i e
(@ swRadmand @ () gl
(b) Iwrwfeadia vawsg @4 (i) 99T
(©) WAl wfyal (i) weTh
(d) g a9 (iv) drd
(1) a b c d
iv il i ii
2 a b ¢ d
iii iv i i
(3) a b c d
i ii iii iv
4) a b c d
il i v iii
W’ 3 “efdror T’ AT a6 Y ERAH
frferfaa weidl & | el fra 87

(1)
(2) erefern
(3) sk
(4) IFeThfea
T e ¥ g9y 3 R Ry e @E
F A 3R B | R A aun @ sw =
W?ﬁﬁ‘l:
A wW () TR ORd smEevar %
ﬁﬁ;zgmﬂ?ﬁ%aﬁxgﬁﬁaﬂxwﬁa
|

B. ¥ (39) werariE uwd Fre e @
I A P A o T B

(1) A 3R B 2! 7Terq &
(2) A& ¢ 3R B Tod @
(3) A 3R B 3! @& &
(4) ATed @ 3R B 9dl #
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R

el ers to

urban to rural migration of labour
force during harvesting period
seasonal movement of people
their livelihood

seasonal movement of people with
their livestock in search of new
pastures

seasonal movement of wild animals

(1)

(2) for

3)

(4)
65. Match the following :

Examples
(if Limestone
(ii) Sandstone
(iii) Basalt

(iv) Granite

Types of Rocks
(a) Intrusive igneous rocks
(b) Extrusive igneous rocks
(c) Sedimentary rocks
(d) Metamorphic rocks

(1) a b c d
ii iv i ii
(20 a b c d
iv iii ii i
3) a b c d
i ii iii iv
4) a b c d

ii i iv iii

66. ‘Chinook’, a local wind, blows in which
of the following regions?
(1) The Pampas
(2) The Velds
(3) The Prairies
(4) The Savannas
67. Which one of the following atmospheric
layers helps in radio transmission?
(1) Thermosphere
(2) Stratosphere
(3) Troposphere
(4) Mesosphere
68. Which one of the following is a variety
of ‘gold wrought™?
(1) Jute
(2) Silk
(3) Cotton

(4) Nylon
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g’ & ST
64. ﬁtg;:{m@ mﬁ%irm JaEtE
(1) mgyﬁatﬁ A gEE
@) o e A i F R
o5, Pt % @ e T
ISR
redt 3 TET
o smid et U i
(b) et i A (if) =G T
(o) a9 (1) FE
@ it A (iv) TR
@ a b ©° ¢
oo iv i u
@ a b ¢ 9
iv iii ii 1
@ a b ¢ ¢
TR B
@ a b ¢ ¢
i i v il

66. Frrfaa &t & @ feel FEg T T
erdt 27
(1) w=TE
(2) acS
3) Y=l
(4) @aw
Tt § ¥ BE-H o el e A
FETd A 87
(1) STRHUSH
(2) HHATIHUSH
(3) &hmTEA
(4) wEEwUEA

68. ‘gl i Freffian § & Fradh w fre 17

(1) SE
(2) e

(3) ¥h-=@
(4) TEAA

67.
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70.

71. ‘Basket weaving’

A o Ty Yo N
are
o forke VY L) i spread
&) HIT sainper (9) | eople 1iv: X
unit p p(' llVlng in a

arca of the ea
(3) the number of
particular areg
(4) the number of
a specific time

rth’s Surface
pcople living in a

People living during

Mineralg lying near

the surface of the earth?

(1) Shaft mining

(2) Open-cast mining
(3) Quarrying

(4) Drilling

is an €xample of

which one of the following types of

(1) Large scale
(2) Cooperative sector
(3) Small scale

(4) Joint sector

72. Which one of the following statements

about monarchy is incorrect?

(1) The monarch does not have to

explain the decisions taken by
him/her.

In a monarchy, people can raise
questions about the decisions
taken by the monarch.

(2)

(3) In a monarchy, people cannot
question the decisions taken by the

monarch.
(4) The final decision-making power

lies with the monarch.

73. On which one of the following rivers is

Krishna Raja Sagar Dam constructed?
(1) Kaveri

(2) Mahanadi

(3) Godavari

(4) Krishna
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69. e A @ HfuuE R

70.

71.

72.

73.

(1) 4-98 9 &l % %er 1 w=Ed

PREERER R ERECEICEY)

(3) Freft A fadna & @ A T R dE
(4) v fafrea srafu & @ @il 6 @@
yefi 1 war ¥ Free fom atsl w oaw

frrre ¥ fom e 3 @ fra Rl
e fern < 37

(1) F9H =

(2) forga @

(3) #mET

(4) FTF

m % frefafan vl § & A0 g
foraen1 U IeTET R7

(1) F&q AR

(2) W &3

(3) ¥ AR

(4) T &=

arTTE F we #§ Frafifa st § ¥ BA-wW
TF A 7

(1) aFmme g fog o fEl @ aEEme ®
W <A F FTavEshal T A R

(2) T A aEmEmR g fe o Rk w
TN T 33T T B

(3) TR # e T fw Rl w
A I T8 W T E

(4) 3fm Frofa % A e TR § B
Bt B

F TS AR sty Frafafes TRl 3 A fm w

ST T R?

(1) =l

(2) WM

(3) MeEh

(4) Fwm
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R

T Y fuf@m, 2005 g

- S he =5 - : 4 ﬁﬁ i
‘,p E f ession Amendment | 74. T2 YFR WeH Fa 2
\Ct, 20 S an equal share in foen ) grafa & &4 Af
tne aeceased father’s property to (1) weh, o /9Pt e 7R /FE F
(1) wife, daughter(s) and sister(s) 2) Ty ,ﬁ"ﬂv Hﬁ/@ a1 s /Al
(2) daughter(s), son(s) and brother(s) ( o /W el
(3) wife, son(s) and daughter(s) (3) o, T/ ot 2 2
(4) wife, son(s) and brother(s) (4) v, 37/337 qen fTe /¥
75. Who among the following national 75. W TE-T H autq w1 % fau ‘ﬁlﬁi'd‘?ﬂ |
leaders coined the phrase ‘Unity in ) , W' gm?{maﬁﬁﬁﬁ'@{ﬁmf
Diversity’ to describe the Indian : .
Nation-State? (1) = e e
(1) Bal Gangadhar Tilak (2) HereH
(2) Mahatma Gandhi (@) agTE T
(3) Sardar Vallabhbhai Patel e
(4) Pandit Jawaharlal Nehru (4) v RISt
76. Consider the following two statements 76. s9e YuTd % FE1 % faed 4 e 3
A and B about the functions of FyAl A iR B W foamm i aen FE I A
Janapad Panchayat and choose the 99 FIfera ;
correct answer : i . foren = W fawm e
A. The Janapad Panchayat makes ’ Pyttt 2|
developmental plans at district T L
level. B. W92 U=Md, T TEEdl % 6ol g fae
B. The Janapad Panchayat helps Prafim w0 4 e ofteg N wema w=d
Zila Parishad to regulate money 2
distribution among Gram
Panchayats. (1) A 3t B 3F1 T &
(1) Both A and B are false (2) A@él 2 3R B 7Ted 2
(2) A is true and B is false (3) ATdd 2 3 B Hd &
(3) A is false and B is true (4) A iR B2 g8t &
(4) Both A and B are true
77. Consider the following two statements 77. G B AER At e 2
A and B on the Right to Information FoA A M B R fem A 7o v 3w
(RTI) Act and choose the correct EREECDIE I
answer : A, I H AUFR Afutem F mem ¥ w2
A. Thm_u%h thet RTI Act,tm;an .citizin o # i Faa F= TR F Rt
get information per ing to e FEgTe ¥ Hed & o1 W HFar
working of the departments of the A &
Central Government only. B. T #1 R fifam & ammiq el
B. To get information under the Right W R % ot T e o ¥ Feet
to Information Act, a citizen has to AMEE § YRS AifE DfEe w REG
first file a petition in any court of H
ani’hl‘:e‘-dB . (1) A 3B 3Rt e 3
(1) Bo an are false
(2) A is true and B is false (2) AT R R B e B
(3) A is false and B is true (3) AT & s B wd B
(4) Both A and B are true (4) A3 B3 v 3
P-II/M 38
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78. Who among the fallaw.:

79.

80.

81.

82.

s

Raffad § -
ai

(3) Mumtaz Alj

was the

9 P Dream?
i I [ 8
-

| £

n

(4) Rashsundari Devi
Who among the
book, Gulamgiri?

(1) Dr. B. R. Ambedkar
(2) E. V. Ramasamy Periyar
(3) Jyotirao Phule

following wrote the

(4) Shri Narayan Gury

In the context of Indian judiciary,
appellate system means

(1) that one can plead one’s case in the
court without having a degree in
law

(2)

Separation of power among the
legislature, executive and Jjudiciary

the decisions made by the higher

courts are binding on the lower
courts

(3)

(4) one can move to a higher court if

one feels that the judgement of the
lower court is not just

The executive organ of the State refers
to

(1)

every citizen of the country
exercising universal adult franchise

(2)
(3)

the elected representatives

a group of people responsible for
implementing laws and running the
government

(4) the judges of the Supreme Court

and High Courts

Article 22 of the Constitution ensures

(1) Right not to be ill-treated during
arrest or while in custody

(2) Right to Constitutional Remedies
(3) Right against Exploitation

(4) Right to Education

P-1I/M
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79.

80.

78. gead] F W THE HEH H AfgwH T 4

%A o7

(1) ufvea Tomemg

(2) &Fa1 TE@Ed §o

(3) TS St

(4) TR
Wmm%ﬂﬁ%ﬂi%@?
(1) o dfio 3o ITFIEH

(2) o do TR IREAR

(3) weifer et

(4) #h A e

Rl e sEe % w3 Il R
e F AY R

(1) 8 s wme @, o el s feh
¥, =T o 9gd w1 ©

(2) Frfe, sEufam it Em@ia %
< wRwal 1 seam

(3) U rere % Hew, Foeh swEwEE W
LIEERGER

(4) et =t 1 ovr T o @ B TR
IeTed T R T Yeen wd A R, @
9% I8 HW ) IMeed A i H Hehdl

?

81. THR & FETNAH 37 § AU ®

(1) 3W H TG AMMGR, TN AEHIHS T0h
HATehR &1 39 Tl 3

(2) Faita vy

(3) WM M W, S FER! Hl AW WA AR
A T % fofg Seer @

(4) SHAH <ETE WU IF AEEE
RIRILI

82. HiauH H g 22 ghfTE wta ?

(1) frewrdl & @nm o ferwa § gdamm R
w9 o e

(2) HuTfeR IR w1 AR
(3) v % fereg, @AfbreRm
(4) Ten =1 rfimn

[ P.T.O.
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is the leader
¢ Sabha?

(3) The Prime Minister
(4) The Speaker

84. Consider the statements A, Band C on
the nature of Social Science at the

upper primary stage :
A. It is a study of people in their
environment.

It is a study of relations among
people and their interdependence.
It is a study of the past and its
relation to the present.

Select the most appropriate choice
from the above statements.

(1) A, Band C

B.

C.

(2) A and B
(3) B and C
(4) A and C
85. Social and Political Life textbooks at
the wupper primary level cover
content related to which of the

following subjects?

(1) International Relations
(2) Psychology

(3) Economics

(4) Philosophy

86. Why would you ask questions on
the

historical imagination? Choose

most appropriate option from the

following.

(1) It is fun-way to remember dates
and events.

(2) It shows how historians fill gaps in
history with their imagination.

(3) It encourages comparison of the
present with the past.

- mgmﬁwmﬁmm@mﬁﬁﬁm

B 87

(1) 3u-TEHa
(2) wgdfd
(3) wuTEE
(4) AL

T e % T8 W
84, 3= WufHE T X '
A, B 3 ¢ el o frem T

N Wmmﬁ—gﬁﬁwam%i
B ar w3 el i IR s =

AT R N
C'ﬁm@(aﬁm%muaa%ﬁm

HeE B
Wa@ﬁamsﬁammw

Hfwu)

(1) A, B3R C
(2) A3 B
(8) B3R C
4) AR C

85. 3= TufF TR R Tmiiveh Td TSHias Sied
%w—g{?ﬁﬁﬁﬁﬂiﬁiﬁaﬁmﬁﬁ%%@

Haifiq fereraeg wfefe o7

(1) =RIgE day

(2) TAEIE

(3)

(4) ST

86. 3 UdEsh HeqN W W & q@?

frferiaa # @ v 3fua fasen =1 i

(1) =8 fafy 3R w=eetl =) O @ =1 =%
EIRS

(2) ¥ <wmar ? T 3R shem § s
FE F I FR IR B G A B

(3) ¥ TOHH 1 I ® WE gE FQ A
TieaTted e 2|
(4) T G B TEEE e 6 A

(4) It evaluates a student’s ability to
identify sources.

P-1II/M
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87.- Why would vou 11ca e : .
\Q/ratlves in Social
B CRFS

_ R O0se the most
'-«-r\- 3
- ¥ 4'—|_'_|"’y

om the given
completed = syllabus is

88. According to the Nationg
t Focus G up
(2006), the teachi o S o

losing Popularity a5

(1) it presents gey

- eral situati
conflict in hum DALSHE wf

. an valuyesg
(2) it lays too much e
scientific temperam

(3) it is considered ag
subject

mphasis upon
ent

a non-utilitarian

(4) it encourages man

study Y subjects of

89. Which one of the given choices is an

incorrect description of school-based
assessment?

(1) It covers only co-curricular aspects.
(2) It covers scholastic aspects.
(3) It covers non-scholastic aspects.

(4) It covers all aspects. *

90. Consider the following two statements
A and B on a teacher’s role in
transacting a Social Science topic and
select the correct answer :

A. The teacher must ensure the
dignity of all students and conduct
discussions with sensitivity.

B. The teacher must focus upon facts
with the boys and the feelings of
the girls.

(1) Neither A nor B
(2) Only A

(3) Only B

(4) Both A and B

P-II/M
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90.

amie fagm e 3 fe 3ma A 0 s
F FN? o v fawedt A ¥ w=w 3t o

=1 g
(1) TresisEn i o 1 gRfTaa @

(2) TrenRi 1 wdewRie w0 @ S 3
3fa a1eEl w1 qal W Th

(3) e hl HARTH T B S

'(4) FumuTe # G aRAEEdA & Y
S |oh

g:ﬁﬁ#%ﬂéﬁ

(1) ¥ wFEE e § srrEas R R
TEqA T B

(2) e e S g W S o R

(3) e o s fawa % w9 & s S @

(4) TR FE fawdl % g ) Wedred FE R

frsfafea § & H-w feq faea-snaia

ST I FTGR 0 27

(1) T8 Faa gemHl uel 1 wimfera w81

(2) == dferes et = wfmfea = )

(3) e -Dfiger vadt w1 wiwfe wa B

(4) Fe weft watt 1 wffaa w R)

e fges F wmhs fTem % faw = g
F0 & e W i A @i B Rl @
femm IR qon 9t IR 1 s R

A Tas wft gl f ofon = e
gffraa #1 3i vaesfiera % @y ==t =

TE R

B. figs @esl & Wy qen R weiFa 6

WA W 7Y & <
(1) AT ARAAB
(2) Fad A
(3) *ad B
(4) @F1 A 3R B

[ P.T.O.


http://upscfever.com

R

f
-~ = PART—IV
Language"‘I
ENGLISH TV (Q. Nos.
Part—
: from
IMPORTANT : Candidates should attcmptLa Q‘;f::]goerfl only-
n
91-120), if they have opted ENGLISH as e srese on

Directions : Answer the following questions
(Q. Nos. 91 to 105) by selecting the
correct/most appropriate options.

91. Which one of the followin‘g is not true
about the status of English language
across the world?

(1) English as a heritage language
(2) English as a native language
(3) English as a foreign language

(4) English as a second language

92. The study of words and their

meanings is known as
(1) linguistics
(2) semantics
(3) phonetics
(4) syntax
93. A good language textbook should
include

(1) extracts from
American literature

British and

(2) more grammar exercises
(3) interesting stories

(4) attractive fonts, illustrations and
learner-friendly texts

Scanned by CamScanner

ru Ctural appr

94. St
(1) improving fluency
C
(2) developing accuracy
) developing linguistic competence
3

(4) election and gradation  of
S

materials

ns
95. Learning to read mea

(1) reading aloud

(2) decoding letters of alphabet into

sounds
(3) decoding the structure of a
language

(4) decoding the meaning

96. The National Curriculum Framework,
2005 advocates that a language
legrner is a

(1) user of grammatical rules

(2) constructor of
language

knowledge/

(3) receiver of language

(4) producer of language

97. Contrastive pairing is
teaching-learning of

used for
(1) writing

(2) speaking

(3) pronunciation

(4) reading
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99.

100.

101.

f B, R, O - il
JER 1
T . # ation
. ,,_tc Stediiial I a  given
(3) learning y
grammar i
g : b knowmg the

alities of language
(4)

learning
gramm
rules of 1anguag:r through the

Role play’ is an activity for promoting
(1) writing
(2) speaking and listening

(3) assessment

(4) listening

‘Brainstorming’ technique is useful for

(1)

improving students’ spontaneous
sensitivity

(2) developing learners’ vocabulary

(3) overcoming the problems of
spelling

(4) helping students in forming

new sentences

Lata, an English language teacher of
Class VII, divides the class into pairs
to read a sequence of pictures and
then describe it to each other. What is
this activity pedagogically known as?

(1) Assignment
(2) Group work

(3) Teacher-facilitated reading

102. Extensive reading is

(1) reading for information
(2) reading the text for pleasure

(3) reading to know the meaning of
every word

(4) reading to extrapolate and

critique

103. Pre-reading activity is meant for

teaching the grammatical items
given in the text

(1)

connecting previous knowledge
and taking the learner into the
text

(2)

(3) connecting the whole class with
one another

(4) giving information about the writer
of the text

104. While teaching a prose text, which one
of the following activities a teacher

must undertake?
(1) Paraphrasing the text
(2) Transcription

(3) Creating a sub-text

(4) Consulting a dictionary

a language component?
(1) Sound system
(2) Manuscript

(3)

Grammar

(4) Peer, interaction

(4) Speech

105. Which one of the following is not

P-II/M 43 | PT.O.
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f
b € passage given

below and answer the questions that
follow (Q. Nos. 106 to 114) by selecting
the correct/most appropriate options.

When the sun had descended on the other
side of the narrow strip of land, and a day of
sunshine was followed by a night without
twilight, the new lighthouse keeper was in
his place evidently, for the lighthouse was
casting its bright rays on the water as usual.
The night was perfectly calm, silent, genuinely
tropical, filled with a transparent haze,
forming around the moon a great coloured
rainbow with soft, unbroken edges; the sea

was moving only because the tide raised it.

The keeper on the balcony seemed from
below like a small black point. He tried to
collect his thoughts and take in his new
position; but his mind was under too much
pressure to move with regularity. He felt
somewhat as a hunted beast feels when at
last it has found refuge from pursuit on some
inaccessible rock or in a cave. Now on that
rock he can simply laugh at his previous
wanderings, his misfortunes and failures.
He was in truth like a ship whose masts,
ropes and sails had been broken and rent by
a tempest, and might have been cast to the
bottom of the sea, a ship on which the

tempest had hurled waves and spat foam,

The pictures of that storm passed quickly

through his mind as he compared it with
ro

the calm future now pbeginning. Part of his

wonderful adventures he had related to

Mr. Shyam when he was interviewed for the
r.

job of the keeper; he had not mentioned,

however, thousands of other incidents. It had

been his misfortune that as often as he

pitched his tent and fixed his fireplace to

settle down permanently, some wind tore out

the stakes of his tent, whirled away the fire,

and bore him on towards destruction.

Looking now from the balcony of the tower
at the illuminated waves, he remembered
everything through which he had passed.
He had campaigned in the four parts of the
world, and in wandering had tried almost

every occupation.

106. The water around the lighthouse got
lit up because

(1) the sun had set

(2) the lighthouse was casting its
bright rays

(3) the night was in the twilight zone

but which still wound its way to the harbour.

P-1I/M
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(4) the keeper had started his job
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107. had made 4 rainbow ar
o ound the | 137, « a day of sunshine was followed by

a night ... .”

; e v/ i

e When the voice in the above sentence

<) iivpical climate is changed, it becomes

(3) Rising sea tide (1) A night followed the sunny day.
(4) Transparent hage (2) The night follows the sunny day.
(3) A night is followed by a day of
. sunshine.
108. ’fI;l—;:n lighthouse keeper’s mind S
Pressure, because (4) A night followed a day of
(1) there w ' sunshine.
ere onl
the top Y 400 steps to
(2) lge nto longer felt like g hunted 112. The antonym of ‘narrow’ is
eas
(1) wide
(3) his job was quite easy ( 4
2) broa
(4) there was regularity in his
movements (3) deep
(4) steep

109. The ship of his life was hit by a storm

”

(1) and it went down to the bottom of | 113. “The night was perfectly calm.

the sea .
The word ‘perfectly’ is a/an

(2) yetitreached the harbour safely

(1) adverb
(3) and it reached the port in a
damaged condition (2) noun
(4) yet it kept on sailing on the sea (38) verb

(4) adjective
110. “He was in truth like a ship.”

The figure of speech used in the above
sentence is

114. The word ‘lluminated’ means

(1) a hyperbole (1) calm

(2) a simile (2) lighted up

(3) a metaphor (3) decorated

(4) personification (4) tossed up

P-II/M 45 [ P.T.O.
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116. The poet

\e extract given
questions that

ow (0 120) by selecting
the correct/most appropriate options.

Dark house, by which once more I stand
Here in the long unlovely street,

Doors, where my heart was used to beat
So quickly, waiting for a hand,

A hand that can be clasp’d no more—
Behold me, for 1 cannot sleep,

And like a guilty thing I creep (7)

At earliest morning to the door.

He is not here; but far away

The noise of life begins again,

And ghastly thro’ the drizzling rain

On the bald street breaks the blank day. (12)

115. The speaker is standing in front of

a/an

(1) graveyard
(2) open field
(3) dark road

empty house

“)

is waiting for someone to

hold his
(1) body
(2) hand
(3) arm

heart

(4)

pP-1I/M
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117. The poet is standing in the qnlovely
street’

(1) to get rid of his fear
(2) to overcome his lonelin€ss

(3) to meet his friend
to experience the drizzling Ta1n

(4)
118. The phras€ ‘noise of jife’ signifies
(1) daily routine of life
(2) the sound of drizzling rain
(3) the poet’s friend while talking
4) nature’s sympathy for the poet

119. The poetic device used in line 7 is

(1) a hyperbole
(2) onomatopoeia
(3) a metaphor

4) a simile

(1) a metaphor
(2) alliteration

(3) an irony

4) a simile

46

120. In line 12, the poetic device used is
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PART—V
Language—II
ENGLISH
e
ns from Part—V (Q. Nos.

IMPORTANT : Candidates should attempt questio

121-150), if they have opted ENGLISH as Language—T

1 only.

Directions : Answer the following questions

(Q. Nos.

121 to 135) by selecting the

correct/most appropriate options.

121.

122.

123.

124.

P-1I/M

A speech community refers to a group
of people who

(1) share homogeneity with reference
to their value system

(2) are multilingual

(3) are bilingual

(4) share community membership

and linguistic communication

Activating learners’ schema means

(1) dealing with learners having
learning difficulties

(2) showing a picture and asking
learners to write a story

(3) making a link between the
topic and learners’ background
knowledge and experience

(4) making a link between the
textbook and its structural

patterns and grammatical items

As per Noam Chomsky’s theory, the
role of Language Acquisition Device
(LAD) is to

learn languages in formal schools

(1)

(2) imitate the language of adults
(3) generate grammar rules

(4) memorize grammar rules

Prediction in terms of reading refers to

(1)
(2)

previewing

using prior knowledge of the
subject and the ideas in the
text as clues to the meanings of
unknown words

Scanned by CamScanner
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125.

126.

127.

using knowledge of - subject

? matter for guessing the content
and vocabulary
(4) paraphrasing

Diphthongs are also known as

(1) vowels with weak sounds

(2) glide vowels

(3) semi-vowels

(4) pure vowels

an English language teacher,
students group work tg
area and asked them tg
t notices and names of
to document them

Yasmin,
gave her
explore an
find importan
places and streets
to write a report.

This activity is known as

(1) peer work

(2) project work

(3) assignment

(4) activity-based learning

Mrudusmita, while teaching a lesson
on atoms from the science textbook,
gave her students activities based
on the theme. The activities included
vocabulary and debate on the uses of
atomic energy. What is this strategy
known as?

(1) Language of science

(2) Language through science
(3) Language across curriculum
(4) Language in other subjects
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&
English,

yau r,_r'!‘ 1 ,I 3= F
e a e |
D |—| unit of a

sentence and then ga pv;:;i’r::hﬁn :
decode the_meaning of the corlrax 1 o
speeC_h- This mental process c¢ P
described as o be

(1) Interactive model

(2) Top-down approach
(3) Bottom-up approach
(4) Middle-path approach

129. In free writing, a learner is engaged in

(1) listing out the things she/he has

just memorized

writir_lg with specific relation to
spelling and grammar

(2)

Writin'g sentences
applying her/his mind

(3)

without

(4) expressing ideas without giving
much attention to spelling and

grammar

Susheela discussed a short story in
the classroom and asked her students
to write an article for a newspaper on
the theme of the story. What is this
writing known as?

130.

(1) Writing for a newspaper
(2) Extrapolative writing

(3) Long answer

(4) Short essay

A question tag is also known as a

1
@
| @)

P-Il/M

131.
critical question
head question
tail question

descriptive question

Scanned by CamScanner

132. Mind-mapping helps the students to

(1) learn passively each of the
linguistic items

(2) memorize the grammar rules

(38) use literary devices more effectively
in their writing

(4) brainstorm, explore any idea and
expand it

structures ~ can be

tical
133. Gramma ontrolled manner by

practised inac

(1) explaining the use of particular

structures

(2) gap-filling grammar exercises

(3) correcting wrong sentences
written by the learners

(4) doing composition exercises

134. Interactive listening means listening

carefully to what 1is said and
responding

curiously to what is said

carefully for word stress and
intonation

to judge the speaker’s mood and
tone

(4)

135. Continuous and Comprehensive
Evaluation of learner is

(1)

continuous tests and assign-
ments

(2)
(3)

conducting continuous tests

periodi¢ assessment of learning

53

(4) periodic assessment of teaching

[ P.T.O.
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the passage given | log these attributes, too, along with the
it ~*+ answer the questions that | {exture.
cotilow (Q. Nos. 136 to 143) by selecting the

frect/most appropriate options.

R

Viidge

ised when th
136. People get surprise .
Peoples’ faces light up when 1 say I taste narrator tells them that he

chocolate for a living, but it is not always

: (1) is a chocolate taster
delicious, |

also have to taste defective

°h°°°13te, which might have a bitter or burnt
flavour,

(2) has to work under red light

'm usually in a small room, not (3) has to eat bitter chocolate
allowed to talk, and parked in front of
& computer to log information. Sometimes

the room has red lighting to disguise the . his Tob
appearance of the chocolate, so I can evaluate | 137. There is no glamour in his Job as

(4) has to work in a small room

it only by taste, not appearance. I can sample (1) he has to blow out short puffs
as many as 30 chocolates per day, so as to
keep my palate active, I spit the sweets back
out. That’s another not-so-glamorous part of (3) his place of work is narrow

(2) he keeps on spitting out chocolate

the job. Between samples, [ wait 30 seconds
to let my senses rest, and I chew half an
unsalted cracker biscuit and drink plain

warm water, as carbonated water and ice
numb one’s senses.

(4) he never ate burnt chocolate

138. The narrator cannot eat and enjoy the
chocolate

(1) as it has not been stored properly
First I smell the chocolate and log its aroma.

I also listen : if chocolate doesn’t sound crisp
when broken, it may be a sign it’s old or was (3) to keep his palate active
improperly stored. Then I place one inch bit
in my mouth and leave it there for a
few seconds, I press it against my palate
and let it melt, recording the four basic

(2) as it is defective

(4) as it has a burnt flavour

139. The process of chocolate tasting runs
in the order of and again

" tastes—sweet, sour, bitter and salty. Then I smelling.
blow out short puffs of air through my nose. (1) breaking, smelling, listening,
Certain sense receptors in the back of our melting

head are stimulated by oxygen. They allow (2) breaking, listening, smelling,

us to smell food when we chew. Exhaling melting

i out aromas like berry, . : . .
sharply can bring _ 1y (3) smelling, breaking, listening,
mushroom, tea, citrus, beeswax, toast, melting
cinnamon, and savoury spices that are i ) .
(4) melting, listening, breaking,

smelling

sometimes too subtle for the nose to catch.

P-II/M 54
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.an “Leave it thara »

(1) Let 1t was left there

(2) It is left there.
(3) It'was left there,

(4) Let it be left there,

141. “Peoples’ faces light up ?
The word light’ here ig a/an

(1) adverb
(2) noun
(3) verb

(4) adjective

142. The word ‘parked’ (Para 1) means
(1) ran
(2) managed
(3) operated

(4) seated

143. The word ‘log’ (Para 2) means

(1) taste
(2) record
(3) cut

(4) enjoy

- PIy/m
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Directions : Read the passage given
below and answer the gquestions that
follow (Q. Nos. 144 to 150) by selecting the
correct/most appropriate options.

The Kittur Fort

One can see today only the dilapidated walls
and ruins of the great fort which was once
known for its strength. The most important
landmark as one goes towards the fort is the
‘Bahadurgad’. Situated to the southwest of
the fort and outside of it, on a natural hillock,
the highest in the plain, the ‘Bahadurgad’,
which was the watchtower, provides a most
panoramic and commanding view of the
sparsely wooded surrounding region of green
grassland, fading, as if gradually, into soft
contoured hills in the west and the horizons
on the other sides. To the north of the tower
is ‘Ranagattikere’ where Rani Chennamma
fought her last stubborn fight against the
British, with almost savage determination.

The actual fort, circular in plan, consisted
of double walls, separated by moats on the
outer sides, with semi-circular bastions on
the exterior of the outer wall. It had originally
the main gateway on the east, approached by
the causeway across the outer moat known

as ane honda which was used for bathing the
elephants.

The entrances through the walls are
deliberately not aligned, evidently in the
interests of security. After passing by the
winding path through the walls, one is led to
the front side of the imposing main entrance

of the palace located near the northern arc of
the inner fort wall.

To the south of the palace, inside the fort, are
the ruins of horse-stables and foundations of
residential buildings, probably meant for the
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- ki . in the walls
- Rortdft Usrid the palace. To the 147. Unaligned gates 1n
SUUUIIWEST A9 wiao llua\’ily built \VatChtower (1) make the Walls look imPOSing
relieved by a series of parallel buttresses at
regular intervals. (2) make the entry €asy
' fort secure
144. Which one of the following statements (3) make the
is t y
s true ? (@) make the fort insecure

(1) Rani Chennamma ruled Kittur

»

from here.
148. “.. as one gocs towards ... -
(2) Bahadurgad is situated inside the tone’ in the above clause is a/an
Kittur Fort.
(1) adjective
(3) From it, one can enjoy a view of
the hills in the east. (2) noun
(4) It was used as a watchtower. (3) verb
(4) pronoun
145. Rani Chennamma fought against the
British _ ) .,
149. “.. and M view of ... .
(1) in Bahadurgad Fort ‘commanding’ in the above phrase is
a/an
(2) in the wooded grasslands
(1) adverb
(3) in the contoured hills
(2) noun
(4) at Ranagattikere (3) verb

(4) adjective

146. From Bahadurgad, one could easily

get
150. The word landmark’ means the same

(1) to see a natural hillock as

1 lain
(2) a commanding view of a dense R

forest (2) marker

(3) to see tall rugged hills in the west (3) adventure

(4) hill

(4) a look at green grasslands
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